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Question Number : 1 Question Id : 9710836707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The element with atomic number 118 as per electronic configuration in periodic table is
WSS HEES® HESen Sowg 118 Ko Srofeh dosQ§ Darglo (Hs°80
& e -

Options :

Noble gas

2385 sP oS0
97108326801, ¢



Transition element
H0SES SHTeerESw

97108326802. #

mner transition element
0SE 0SS DHIreESw

97108326803. *

Alkali metal
S8 DHrofasn

97108326804, #

Question Number : 2 Question Id : 9710836708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following molecular orbital is ungerade
& (308 sdor & €960 E&ﬂ&jﬂg 50088 (9S23E)

Options :

Gos
97108326805. %

97108326806. *

97108326807. ¢

97108326808. #



Question Number : 3 Question Id : 9710836709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following group of molecules are CHIRAL
& (306 TBS® 2 $H508 08 wemagen WS
(CHIRAL) r sodmom

Options :

D
97108326809, % ——nb

97108326810, % T

Cnv
97108326811, #

D,
97108326812, ¥

Question Number : 4 Question Id : 9710836710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pair have highest paramagnetic moment
& |'§o&> 23S & NEYRN tes e:ﬁo‘é”a%ﬂ&_oé &58) 80065 §§oﬁwocﬁnpﬁn
Options :

] _2+ i 3+
07108326813, * CT and Mn



2+ 3+
97108326814, % £€ and Mn

It i
97108326815. ¢ Fe”and Mn

Co”and Fe*”
97108326816. %

Question Number : 5 Question Id : 9710836711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The hybridization and magnetic properties of complex ions
5085088y SHBO E’:UOSJ%‘&.DGS gov o0 & [Sob Kogy Oy S woSrSes®

i) [ PtCL I ii) [ NiCL ]* are

Options :
i and ii both dsp” hybridisation and paramagnetic
i, i wengo®H dsp” $o0HOEE0S HBSH droe e_-ﬁol‘faﬁﬂ&_oéefcsaﬁw

97108326817. ¥

i and ii both sp” hybridisation and paramagnetic
i, il wengo®H sp’ $oHdESmsn HBSH Teoe @oﬁn&&_oééﬁm

97108326818. #



i is sp” hybridisation and paramagnetic and ii is dsp” hybridisation and diamagnetic
&R wengoH spt $oHdEEpS HBSH roe @d‘aﬁﬂa_odefsaﬁw. fololet™!
ey dsp’ $5oHdEE HBH Eas @oﬁnﬁﬂ&oéefﬁcﬁw.

97108326819. #

ii is dsp”hybridisation and diamagnetic and ii is sp’ hybridisation and paramagnetic
&R vengoH dp’ $oHdESnn Hbok Ee @oﬂnﬁﬂ&_oéefséw. foleleat™]

ey sp° oHOEE e HBSH Sroe @oﬁaﬁﬂ&oddséw.
97108326820.

Question Number : 6 Question Id : 9710836712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is incorrect about lanthanide contraction
& (308 ES° A8 eroEBE VoSTE HBod KJIE

Options :
Regular decrease in atomic size with increase in atomic number from
Ce (58)to Lu (71)

DBSTe Koy DOAS STo8 Ce (58) S0 Lu (71) H SiHebob.
97108326821 ¥

Close resemblance of chemical properties of (Zr .Hf) .(Nb, Ta ) and ( Mo, W)
ERcHIE Somos® oo XS &0 (Zr Hi) .(Nb, Ta) 58 (Mo. W) 0%

S0t00 6
97108326822, %



La(OH); is more basic than Lu(OH);
La(OH); % Lu(OH); 508 Q%8S 528 Scgrsedn ¢o0tmod
97108326823, #

The E° values for M +3 en — M) decreases regularly from La to Lu

M 43 en— My % E° QensSen La Hod Lu % SHeown
97108326824, ¥

Question Number : 7 Question Id : 9710836713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a cluster
& (308 8S° 28 E56 ™ sownod
Options :
Sg

97108326825. #

Sz N»
97108326826. ¥

2
Pbg b
97108326827. ¥

Ces Hs
97108326828, ¥

Question Number : 8 Question Id : 9710836714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is true about affinity of dioxygen
&3 |L_%o& -8S* 308 2 E%p}.sso’i_é'e NE IR w8 Sotwod

Options :

Myoglobin has more affinity to oxygen than hemoglobin
&I DSER HSBrATHSH S @8inS 5° RSB sowod

97108326829. ¢

Myoglobin has less affinity to oxygen than hemoglobin
&IOS HRAHSH SIS wdimnS $° 903 sowod

97108326830. *

Myoglobin has no affinity to oxygen
DHSBrAASH enS S° O DS &IV S0&D

97108326831. #

Myoglobin has same affinity to oxygen as hemoglobin

5 2 3\.1' T o 2 L
97108326832, % Bo&0oeds 2.8 SEPS wdIE wotnod

Question Number : 9 Question Id : 9710836715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The complex dichlorobis ethylene diamine Cobalt (i1) ion [Co(en); Cl,] exhibits

85:6° OS5 a80S §%¢ (ii) ion [Co(en), CL] & ($0& &S &6955533@3
CES(HSIENE

Options :



Only optical isomerism
&)%3 ﬁﬂd&ﬁém |85

97108326833, #

only geometrical isomerism
Eﬁgéloéo&a &@%5533 o=| B

97108326834, #

Exhibits geometrical and optical isomerismo
Ty FETgsn DO Tgdodoh W)

97108326835, ¥

It does not exhibit isomerism
I r. .
mﬂc‘@%ﬂém obdgc‘éé
97108326836. %

Question Number : 10 Question Id : 9710836716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per experimental observation, the structure of Xe F, is
@C':-o?mﬁ $O0ee soeSore Xe Fy &: @o&h TINSaT- S’Qodw&mo&

Options :

Octahedral
© oo

e

97108326837. #



Tetrahedral
358y HoHo

97108326838. #

Square planar
DS IS0

97108326839, ¥

Square
3 Stefhele
o
97108326840. ¥

Question Number : 11 Question Id : 9710836717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following oxides of nitrogen are odd electron molecules
& (Sob éLQ:SS:ES ¥5) & wenIos® A B& Kosge C-J@E:S@J SONY

Options :

NOand N, O,

07108326841, %  NO 0850 N, Oy

NO and NO,

NO Hdc%w NO;
97108326842, ¥

NO>and N> O

NO; 85w N; O3
97108326843, ¥



NO and N.O

NO 58w N,O
97108326844, %

Question Number : 12 Question Id : 9710836718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following molecular species will have all vibrations I R and Raman active
& L%o&h EJOST D oS égo‘f:-&:n@é’s IR @53_:1‘-'5533 Raman |§a:='a§£w
EOS0S D

M [+ 8
Options :

ClO5
97108326845, ¥

CO,
97108326846. ¥

N>
97108326847, %

NOsy
97108326848. ¥

Question Number : 13 Question Id : 9710836719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the correct properties of liquid ammonia metal solution from given below
& (308 gov) o&® 28 (565 0=y DS St (Sseen $9 ssoemow

1) Ammonia alkali metal solutions are blue in color
03 Qo g8 S5 (Been Doorr sotmow

i1) solution color changes when metal concentration is very high
(B MES AE)SIOPE S0 SeE)¥oLT~ow

i11) solution paramagnetism increases with increase in metal concentration of metal
|§ﬁ°@ faleta &é&é«ﬁéﬁ'}:@éy oo @oﬁa%&oej Y INSVILETAL NIV Vet

1v) Metal-Ammonia solutions are strong reducing agents
03 ASrS® 555 Boren 220308 FobseSewenrr HQ S o
=

Options :
1. 11 and 1v
i, 11 H8c%w 1V
97108326849, ¢
) 111 and 111
i1l SHBS iii

97108326850, %
11111, OO 1V
97108326851, %



1.1i.and 1v.
iiil, oHBCSSw iv
97108326852, %

Question Number : 14 Question Id : 9710836720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The frequency of last line in Lyman series in terms of Rydberg constant (R)?
S5S Bebs® D50 A PSP 8§ 28 RorosSns®
Options :
R

97108326853. #

i R/4
97108326854, #

/
97108326855. # R/9

Ty [/
97108326856, ¥ SR/ 4

Question Number : 15 Question Id : 9710836721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The wave nature of electron experimentally verified using diffraction by
@@EQS Boo¥); S8o0X ﬁ&e;ﬂ&iéw @-o‘c‘aﬁﬁa}dﬁ§om DSEISD DL S0

Q&8 oTaESE



Options :
debroglie

&/25°A

97108326857. % = 7

Heisenberg
OS 28
97108326858. %

Schrodinger
[i-'e‘&o ot}
(.

97108326859. #

Devisson-Germer and GP Thomson
BDBS -3 5 HBTH 28.8.6°00S
=
97108326860. ¥

Question Number : 16 Question Id : 9710836722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The inversion temperature T(when Joule-Thomson coefficient is zero) interms of
Vanderwall constant a and b is

FE-r)0S RoroSn Kaom)r aNIPSD $osX w&iKS (T) roddsE
Roro¥ssnes® (a.b)

Options :

Rb/2a
97108326861. %



Ra/2b
97108326862, ¥

2a/Rb
97108326863, ¥

/
97108326864, # 2b/Ra

Question Number : 17 Question Id : 9710836723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The critical compressibility factor for real gases Z.=PcVc/RTc value is
So &:ﬁ 5@:‘?)&5&” Qascrdinage® Z=PcVc/RTc Denes
Options :

|
97108326865. *

f

97108326866. *

97108326867. #

97108326868, ¥ 3/8

Question Number : 18 Question Id : 9710836724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The acid catalyzed hydrolysis of methyl acetate was first order in each [acid] and[methyl
acetate]. The overall order and molecularity of reaction is
DB @IS zo FIS -3555 ﬁ?’:ﬂds’éw K;éago@’s @;éﬁpos’ 15’65 8Ho0, oS
DRES, & I Jodo ESTosabo HOADy e

Options :

97108326869. # 1.2

2,2

97108326870, ¢

2
97108326871. # 2.1

97108326872. ¥ L1

Question Number : 19 Question Id : 9710836725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The coordination number and number of particles per unit cell in (BCC ) body centered
cubic system
eERowdE Hgos: (BCC) ﬁaﬁnﬁﬁcﬁa E(':.os;::g eI VIR To PN VIN] E(':.oa-:.ug 2.5

SRS Qomea®8  (BCC )( per unit cell) & o sotmon

Options :

97108326873, #

6.1
97108326874 ¥



2.4
97108326875. ¥

97108326876. ¥

Question Number : 20 Question Id : 9710836726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The adsorption 1sotherm useful for multi layeral adsorption is
250 wed T80 ©bF K8 S|k Spen

2 L
Options :

BET i1sotherm

BET $3=5/KeS 3o
97108326877, ¢ B

Gibbs adsorption isotherms

Gibbs ©85°%es 53?53@6 fol)
97108326878. ¥ £

Langmuir adsorption isotherms

o578 285558 IR O
97108326879, #

Freundlisch isotherms

o0& 5 ey B
o f=1=4
97108326880, ¥

Question Number : 21 Question Id : 9710836727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is non radiative transition.
& Bod OS® A8 988 HBSEoren (non radiative)

Options :
Phosphorescence
fé@é&
97108326881. ¥ =
Fluorescence
&8,

97108326882, #

inter system crossing (ISC)

(ISC) zowd KD [soRoA
97108326883, ¥ = -

bioluminescence

£568 (bioluminescence)
97108326884. ¥

Question Number : 22 Question Id : 9710836728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The std EMF of Danial cell is 1.10 V at 298 K. The free energy change of Danial cell
(i kJ) is

(Beees EMF E00HS §060s008% 1.10 V ewows o Do) %§ (free energy) 35°
FE05® 298K S



Options :
212.3
97108326885. #

-212.3
97108326886. ¥

0.12M
97108326887. ¥

0.122M
97108326888. ¥

Question Number : 23 Question Id : 9710836729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The molar concentration of sucrose isotonic with sea water with osmotic pressure of
30 atm at 300K is

300K &S%S_ o8a%n 30 atm @aﬂ@ﬁdea & &S0 §@;5 EC:.&SJJES 300S° SIS0
B8O &ESo $OS DS (crSwwo e (Sroo~0:8)

Options :

1.22M
97108326889. ¥

0.05M
97108326890. ¥

97108326801, ¥ 0-012M



0.122M
97108326892. ¥

Question Number : 24 Question Id : 9710836730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vibrational spectra is observed for
505 R E BOS*® 503508

Options :

for all atmospheric gases

@) T3S oS oS*
97108326893, ¥

for all green house gases
AS F°F occ0S*
97108326894, ¢

for all noble gases

@) e Pyl NI STOM
97108326895. %

for all homonuclear diatomic gases
SIS SESrrgions crauges’

97108326896. #

Question Number : 25 Question Id : 9710836731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Quantum dots are structures with
S"CSO& HF e & (§ob D 8seES® Sotom

Options :
all sides nano size
oQ) péeo =S° pE
97108326897. ¢

two sides nano size
Both &%) en SPE

97108326898. *

one side nano size
28 &%) SRE

97108326899. #

| 10 side 1s nano size
D BEY &S° PE

97108326900. #

Question Number : 26 Question Id : 9710836732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is incorrect in Rotational spectroscopy
Shes Y 5. HS® 28 HBRIE &
c Wos O

Options :
Only molecules with permanent dipole moment exhibit rotational spectra
w%ce (dipole) &acd&g (5% &N [Sehes I8 8 ZDHSnoETam
971083260 « o o _ DL — E\.«I\._p.- ol
7108326901



Ground state energy is zero
aﬁr%&é’s &3:145& 55 §Q£&

97108326902, #

Rotational energy levels are equi spaced
SSoea 3 %ﬂmﬁ@a BT SRS ETESS® 3D

97108326903, #

' Rotational spectral lines are equi spaced
(E5sen ?}Qi Soen DTSR 80 COMEY

97108326904. ¥

Question Number : 27 Question Id : 9710836733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The correct order of carbanions stability among the following is
1) carbanions of acetylacetone

11) carbanion of acetoacetic ester

i11) carbanion of malonic ester

@REE eSS 58O, oR¢S® RS N AR SR8 A6 2o
eSSt %6&5&3 o D& sotnod
Options :

97108326905, ¥ W1~ 11 =1

1>1i>iii
97108326906. ¥



i > i > i
97108326907 *

1>1>
97108326908, %

Question Number : 28 Question Id : 9710836734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following compounds the C-N bond is present
&3 L%o& T3S® C-N 2085 07 ﬁé&&b & ?

1) Alkyl nitrite 11) Nitro alkane 111) Alkyl isocyanide 1v)a lkyl cyanide
o35 JBS Sies° B wg) S oVRIE e S KSoHZE

Note: For this question, discrepancy is found in question/answer. Full
Marks 1s being awarded to all candidates.
Options :
1,11,111 and 1v
97108326909.
i1 and 111
97108326910.
i1 and 1v
97108326911.

1.1 and 1v
97108326912.



Question Number : 29 Question Id : 9710836735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

L-chloro succinic acid treated with 1) KOH and Ag-O separately . The products obtained

are

L-£°6° $8)08 eghaiod i) KOH S° (i) Ag,0 &° I8 <5

édj&:& L%ofﬁ NIegEeD

Options :

97108326913, #

97108326914, ¥

97108326915. ¢

97108326916. #

both gave l-malic acid
S0 1-5=08 &sHSnlN NS

both gave d-malic acid
S0 d-S5O§ esgHoso QNID

KOH gave d-malic acid and Ag,0O gave L-malic acid
KOH. d-65°98 359505 Ag:0. R-5°05 &38H50%H

KOH gave L-malic acid and Ag,O
KOH, L5205 @¢Haneh Agr)0, d-55205 eseHasnsd

gave d-malic acid

5 &0 :36&-:55533&3

Question Number : 30 Question Id : 9710836736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The amino acid that does not contain asymimetric center is
o 9 Eo@m (asymmetric) 80 ©FPS® eHao

Options :



Alanine
97108326917, ¥ SR

Glycine

RS
97108326918. ¥ ==

Serine
PJQS
97108326919, #

Cystein

97108326920, ¥ &

Question Number : 31 Question Id : 9710836737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the following cyclo addition reactions
&3 t‘%o&a 5@@‘53 Clelevustal 154555’5

1) ethane + butadiene - Cyclohexene

28S + argoegors > &S

i1) ethane + ethane = cyclobutene

88S + abS > pSargdS
which of the following is true
DBS® QB BRI



Note: For this question, discrepancy is found in question/answer. Full
Marks 1s being awarded to all candidates.

Options :
Both are thermally feasible
Bod B50ss A Eerow
97108326921, -
both are photo chemically feasible
Bocd 5208888 565 5353@@0&3
97108326922.
i -is photo chemically feasible and 1i- is thermally feasible
SEB8 5208 05 Toths wHOST DS
97108326923, =
i- 1s thermally feasible and ii- is photo chemically feasible
Sooesed :“scgée% 5‘&5&&3 Bo&Ss 5008 645 édo’n*jcﬁnd:o&
97108326924.

Question Number : 32 Question Id : 9710836738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disaccharide is non reducing sugar
& (308 Z-358E0S° b KoHESn Sorgsn 9%

Options :



sucrose
LolStE

97108326925. ¢ =

maltose

oS E
97108326926. # o

gentiobiose

2odRra B
97108326927, ¥

lactose
97108326928, #

Question Number : 33 Question Id : 9710836739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In the reaction
&3 L%o&h 1‘56555

(1) 2 Bromo propane ——p CH3;-CH=CH,(3%) + (CH;),CHO,CHs(97%) with
reagent X
2 @S’%@@“&S — CH;-CH=CH,(3%) + (CH3),CHO»,Hs(97%) 58850 X &°

1555:36&;3

(i1) 2 Bromo propane —» CH3-CH=CH,(79%)+(CH;),CHOC,H5(21%) with reagent Y
2 @*a:o@'ﬁ%—r CH;-CH=CH,(79%)+ (CH3),CHOC,Hs(21%) 528550 Y &°
565:36&-3

What are X and Y reagents
X 58050 Y s8s7en Qb3

Options :

X=Sodium acetate and ethanol and Y=ethanol

X =TP25HS wdSES HBo5H afcd HBH Y=a8rS
07108326929, #

X=ethanol and Y=sodium acetate and ethanol
= 28576 HBKH Y= TBHS @SS 805w aseS
97108326930. ¢



X=dil. Acetic acid and Y=ethanol
X=dil. 9835 8eHH HBSH Y=adS
97108326931, ¥

X=water and Y=ethanol
97108326932, % X:t'bdj 536053\3 Ellld Y= E{df@ﬂg

Question Number : 34 Question Id : 9710836740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

which of the following test can identify carbonyl compound but not distinguishes
aldehyde and ketone.

& 808 ISt A8 5°6%S8 3 FIod HHod o0 w&p&S, 85°S
2 B80S S
Options :

silver mirror test

&5@5 cflofi:fg 50K

97108326933, #

Fehling test
290h 8K

97108326934, #

Schiff’s test
Raa_cﬁ o“éag
97108326935, ¥



2.4 DNP test

97108326936, ¥ 2.4 DNP wgé

Question Number : 35 Question Id : 9710836741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reaction of diethyl ether with excess hot HI gives products
8385 &8 38 0o 968 HI S° & Sod 80 agobd.

Options :

ethanol + ethyl 1odide

a8S + 8388 wBrRE
97108326937, ¥

ethanol+ methyl 1odide

97108326938. # adﬁng i gb@g @CEJ"QE

methyl iodide + ethyl iodide +water

DB oBras + 388 6BrasE +AS
97108326939. #

methanol + ethyl iodide

QRS  + 5@5 @oﬁaﬁég
97108326940, % Y

Question Number : 36 Question Id : 9710836742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The alkyl halides 2-chloro butane and isobutyl chloride are what kind of isomers
2-856° g8 SHBo R aegBS §78E ADEPS JeE)rgen

Options :
positional
R &d@ﬂsﬂ‘gm
LfY

97108326941, #

functional

@,‘-&oﬁném&b
97108326942, %

chain

@osaﬁ@ﬁ

97108326943, ¢

positional and chain
o
B8 HBO%® %@oa:@ @dﬂ%ﬂé@;
® e/
97108326944, %

Question Number : 37 Question Id : 9710836743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The protein folding is
FES 90K

Options :



primary structure of protein
PSS BB (DED w88

97108326945. #

secondary structure of protein

-"-:)'-'E ’é - e . - "“f =

BPES Bw) (secondary) 818D wg)8
97108326946. #

Tertiary structure of protein
PSS BB $HBcH (Tertiary) %8

97108326947 ¢

Quatemary structure of proteins
A8 Bw®. (Quaternary) SHE w8
g 3 %

(-

97108326948 #

Question Number : 38 Question Id : 9710836744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hydrogen atom of which carbon atom in 1-chloro 2- pentene exhibit larger chemical
shift(down field)
1-§°6* 2- pentene &° 508’53;5&533 CoE), D80 whE ) (@o&%)

£02508.
Options :

H of C; and C;
97108326949, ¥



97108326950, # Hof C,

H of (:4
97108326951. #

H of (:5
97108326952, #

Question Number : 39 Question Id : 9710836745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mass spectra is graphically represented as
S8 ) ic'f_m‘fo (Mass spectra) [F&,;géﬁ_nﬂ & DEore STROESSD

Options :

ion current vs m/e ratio
WoSrS PG SHE me NG
97108326953, ¢

ion current vs relative intensity
wosS QeHgerStan ST 6888 208948

97108326954, ¥

atomic mass vs relative intensity
HESe TS SKS 68BS aoﬁ&)@éﬁ
97108326955. %



m vs relative intensity

m S5S 88835 roBE
97108326956. %

Question Number : 40 Question Id : 9710836746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first person who separated racemic mixture into individual enantiomers
S8 &o@féaéwc& &)m&&oﬂ:&iﬁjm DEERS Ew::ic?mdéﬂ @ﬂ@:ﬁcﬁa

Options :
F.Wholer
NS, S8

97108326957. #

L. Pasteur
8. FHE
97108326958, ¢

Van'thoff

TPOTED
97108326959, ¥

Emil Fischer

20S LS
97108326960. #
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Question Number : 41 Question Id : 9710836747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the force F =2i —3j—k acting on an object along 7 = 2/ + j — 4k then the work done in
it s

F =20 + ] — 4k o 2.8 S P wwo F=2i -3k (QSBeAod), @b ESo%os®
30AS &8



Options :

97108326961. # 2

fad

97108326962, #

97108326963. *

-

2
97108326964. ¥

Question Number : 42 Question Id : 9710836748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Stokes theorem can be used to transform a integral into a integral.
FOASL(TVIING $STE0QSE SrarodSo o ﬁfgp]

REPOE0 B0 BBRTALEED

Options :

surface : line

=508 . Cgo
97108326965. ¥

surface : volume
550X . 2S00
97108326966. #

volume ; surface

I8 STe ; b
97108326967. ¥



volume ; line

N385 805T°es ; O
97108326968. *

Question Number : 43 Question Id : 9710836749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an one dimensional elastic collision, if the body A. with a velocity v . collides with the
body B of equal mass at rest then body A

2.8 QEDLASH %&@;eﬁs’ ST S0S® A oI Sy v K0St 0 @5&55 o8 BOAS
@G‘&SJDETBQ&':S& 5H6%% B 93 S5H3S° wddrdo 383, e:ﬁo‘égacﬁn A S

Options :
comes to rest
[l =% o
07108326969, % DTTDOTS K08
moves with twice its initial velocity

$°9 Ird8 Boch Bew ISt FO0s
97108326970, % =

moves with the same velocity but in the opposite direction

97108326971 J@Oé S 5583-5 &XST 3Hod

moves with the same velocity in the same direction

008 JKoS® i &¥S® IHod
97108326972, %

Question Number : 44 Question Id : 9710836750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A rocket whose initial mass is 850 kg consumes fuel at the rate of 2.3 kg/s. The speed of the
exhaust gases relative to the rocket engine is 200 mv/s. The thrust provided by rocket engine is

850 %.[‘F.Eﬁ SO (855 0°8 Ko o8¢5 2.3 %[FI?J . 0NS, 0B 0:3S KK )
oo
Options :
64 N
97108326973. %

640 N
97108326974. ¥

12
97108326975. ¥

h

2N

6400 N
97108326976. ¥

Question Number : 45 Question Id : 9710836751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a mass is rotating in a plane about a fixed point its angular momentum is directed
along the

2.8 Soos, &Qd @3655@%‘ 2.8 %6 20080y zﬁac:aiﬁ @5&&35?@3 3@5&5@;6&1 0 §%Bc%H
@Sé:gér‘fo B &%

Options :



tangent of orbit

h/_‘l % - 1
07108326077, % SEH )G TDwSoerd

radius
™
@Sojngo o0&
97108326978. # '

axis of rotation

@Séaamg_o o208
97108326979, ¥

line at an angle of 45° to the plane of rotation
@éaaawg S8 45° 0e8° Qﬁ;é& B Jo2&

97108326980. #

Question Number : 46 Question Id : 9710836752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The moment of inertia is a tensor of rank

23¢8T (b0 S8K8 (rank) S5
Options :

one

258

97108326981. #

wo
oo

97108326982, ¢



three

NSeLtecd

97108326983. #

ZETO

L

{\:'-:JNCL
97108326984, #

Question Number : 47 Question Id : 9710836753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A planet revolving around the sun in an elliptical orbit has a constant
Ehgaﬁggﬂ?d §§6r&‘3’5 Qre8g0 < 556@5&03 (QISAD SN T ele] SO0,

Options :

Kinetic energy
K& %3

97108326985. #

potential energy

88 78
97108326986, % %

Linear speed

3doH S8
907108326987, #



ElIlglﬂal‘ moimenmum
#5@;5&5@&&
L

97108326988. ¥

Question Number : 48 Question Id : 9710836754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Coriolis force 1s
58RO 2200————
Options :
a real force

28 PSS 20
97108326989, ¥

a complex force
2.8 Jo03% 20
97108326990. # il

a pseudo force

2.5 &ogﬂg 2200
97108326991, ¢

not a force
25050 5o

97108326992, #

Question Number : 49 Question Id : 9710836755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



How fast a particle has to move so that it mass becomes twice of its rest mass?
2.8 800 BwE) Docd (BI50°8 SodoSen ©INY ©d Qod S8 Iyyd ?

Options :

3
-

97108326993, % 2
[~
VI
—

2

97108326994, ¥

C

2

Tad

97108326995. #

-2

97108326996. #

Question Number : 50 Question Id : 9710836756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the theory of a relativity, the speed of light in a vacuum is for all
observes

ﬁﬂig Ragﬂoéo @35“50. $680%HeoX88 %3?:55095'5 scof 3S&
Options :

the same

QeSS0

97108326997. ¥



different
97108326998, % &3@5&&3

dependent on the relative motion of the observer
5880%9 &hﬁ:g NoSo & woed $&5HHod

97108326999. *

dependent on the motion of the source of the light

07108327000, % SO BT TE), Jodo B werd HSod

Question Number : 51 Question Id : 9710836757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The phase of the simple harmonic motion describes
<l é’sbwe_‘{;s” SodSn BwE). &% L%o& TR SendeHobd.
Options :

displacement only

%ﬁ:ﬁ E_So%oﬁwcﬁa éPLécT:b

97108327001. #

direction of motion only
JoS HXD &EPES?;"D

97108327002. #

both direction and displacement of motion

FoID Bwg). &F HOB® %ucs [BoBSnoH SodTD

97108327003. ¢



neither displacement nor direction
%ﬂ:ﬁ [Fo%SD 520 HEIDH 570 Sudd®

97108327004, #

Question Number : 52 Question Id : 9710836758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If two mutually perpendicular simple harmonic vibrations having same amplitude. frequency
and phase are superimposed then the resultant form of vibration will be

2.8 058 HBS, é‘:ﬁso‘éﬁéo HOH o ZOAS Soth J8F SroeeH & Sodaren

Eéo’ﬁ;]d@a:orw @@ﬂgé’eé’;é HO0NSTT 00K Folore wseEo
Options :

a circle
2.8 5SS

97108327005. #

a parabola

2.8 S8Secho
97108327006 %

-an ellipse
.8 éi&%ﬁéx

97108327007. #

a straight line

2.5 0&¥ S
97108327008, ¥



Question Number : 53 Question Id : 9710836759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When damped harmonic oscillator completes 100 oscillations its amplitude reduced to — of

By |

its initial value. What will be its amplitude when it completes 200 oscillations?

9SHE Hooeds) Sfodsn 100 Sfocren $raRSHEH = 800 Sfod HBMWE — B

2
3
SASS, 200 SPocren Grf wond 0 E'of HBH8 Aod SHSod ?

Options :

(SR

97108327009. #

h | —

97108327010. #

o | -

97108327011. #

O | =

97108327012. ¢

Question Number : 54 Question Id : 9710836760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In the forced vibration. the resonance peak becomes sharp when the
20 ) 5050 S® NS F0E5N DOBIHISH0d &]éﬁ:}:é@aﬁ

Options :
Restoring force is small

=
)eJeTmnE 20 ﬂcﬁdomc\"fsé}din
97108327013. % -

Damping force is small
9555%% 2200 ﬁcﬁ&cﬁmc&é}cﬁ:

97108327014. ¢

Applied periodic fore is small
B0 wSET 2200 D) BoSEYED

97108327015. #

Quality factor is small
e =850 &5&6@&35@&3

97108327016. #

Question Number : 55 Question Id : 9710836761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the case of forced oscillations, the phase of forced oscillator with respect to that of applied
force is at amplitude resonance and the phase of the forced oscillator with respect to
that of applied force is at velocity resonance.

2TeS) NS oo, whHSBE oo HOK TS NS CE:EEJS“@oﬁJQS:S &% 9HTE

EoDS HOB ¢ 55 HBSSN @wHd IKo S K sowwod.

Options :



| ZETO |

A
ey ¥ 5o
97108327017, % 2

T
| — 1 Z€eIo
2

T

: SSJ:S;L
97108327018, ¢ 2

ZET0 | ZET0

97108327019. # =
97108327020. #

Question Number : 56 Question Id : 9710836762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a bar is subjected to transverse vibrations, the stress induced in a bar 1s
28 8§ 855§ Lolarod ABIHD, eAS® B ($800

Options :

compressive stress
LodXES E&@a:@o
97108327021, *



tensile stress

&55:3 [H82y00
97108327022 # o

bending stress

S0y [Hfaeo0
-
97108327023, ¥ b=

shear stress

O&TSen @C@ 2000
97108327024, %

Question Number : 57 Question Id : 9710836763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The frequency of a stretched string of length ‘{” meters is 256 Hz. If the length of the string is
reduced ‘02" meters under the same conditions. then its frequency is

P Doerdd XY KD FREISSH %‘oﬁa@c&ém 256 Hz. «8 QcHero a8 &X
PES U2 H éﬁoﬁﬁé@;cﬁ =& %‘:535@;:55513 Qeness

Options :

256 Hz
97108327025. ¥

128 Hz
97108327026. ¥

512 Hz
97108327027. ¥



1024 Hz
97108327028. ¥

Question Number : 58 Question Id : 9710836764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Expression for vibrating string impedance is

L08038K ao?ﬁ:gp:

Options :
VT
97108327029. ¢
Fa
|
| U

97108327030. *

97108327031. #

T
97108327032. #

Question Number : 59 Question Id : 9710836765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Viscosity. conduction and diffusion, respectively. represent the transport of
a&{é‘i S So HBAH LT SdoT 0dRKOS ooXHen SEJ
Options :

momentum, energy and mass
(SS55 B0, 38 HB® (SSgo™B

97108327033, ¢

mass, energy and momentum
(SS50°R, 48, DO ($SgRK0

97108327034, #

CNergy. mass and momentum

%5, (BS50°R HOSH (BSgR0

97108327035, #

momentum. mass and cnergy

5553%0. (555078 SHBck> 53

97108327036. #

Question Number : 60 Question Id : 9710836766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The area under temperature-entropy (T — S) curve of a thermodynamic process represents

2.8 m‘%ﬁ@g @”@o‘ﬁaé’e ﬁoﬁ_j‘iﬁd s &jof:S'e& (T =8) &S{é’ @@50& 'IL%O& TOS*

SFHHoL ?

Options :



heat absorbed
m“a:;%'sa’iaa'b&&
97108327037, %

heat rejected
Sorerl) S50 Schard)
97108327038, %

either heat rejected or absorbed
ﬁ%w&& S5O IcHEo Sae m‘%}fﬁ*ﬁw&&
97108327039. ¥

volume of the system
BFSXI0S HOSIreg=So

97108327040. #

Question Number : 61 Question Id : 9710836767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-~ X

: : cS
In one of the Maxwell’s relations | — | equals

p ).
SrEIRE $&nESe Jozogres® [C;—S\ % KPS S HHSE
Options : T

op)

\oT ),

97108327041, #



]
T g
| T
h-..i "q

Y,

97108327042. ¢

97108327043, #

97108327044, %

Question Number : 62 Question Id : 9710836768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The combined form of first and second law of thermodynamics is given by
082) DS m‘%ﬁ@é 7 :"% o0& HBOT TodksS HoHTre EeHo
Options :

dQ=Tds—-pdV
97108327045. #

dU=TdQ+dQ
97108327046. #

Tds=dU+pdV
97108327047. ¢



97108327048, % Tds=dU-pdV

Question Number : 63 Question Id : 9710836769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Kapitza developed helium liquefier using
oo (8088005 oS IR TA0DSE
(.

Options :
adiabatic expansion

RELE SECRO
97108327049, % ¥ =°

isothermal expansion
e ;-Ei | §'£
N3l (K argS™wSo

b

97108327050. #

Joule-Kelvin effect
FE -39 < S HOS0

97108327051. #

adiabatic expansion and Joule-Kelvin effect
RETLE aeg&°S0 DBk FE 8IS $OSo
97108327052. ¥

Question Number : 64 Question Id : 9710836770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



For a perfect black body. the absorption power is
SORE %QQS@J@ B0E); T80 %ﬂéacgsaﬁw

Options :

97108327053. #

1
97108327054. ¢

Ze10
97108327055. #

| o
97108327056. ¥

Question Number : 65 Question Id : 9710836771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Joule-Kelvin coefficient for an ideal gas is

WS o o) S - 3@.’)55 Koo

Options :
negative
200eTe3) 50
97108327057, * ©
positive
d@ﬂe:{; go

97108327058, #



ZE10
o

eJIeT™ )
97108327059. ¥

can be negative or positive

20eS) 50 Ba° F°S) 50 5N
= = L
97108327060. ¥

Question Number : 66 Question Id : 9710836772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Wien’s displacement law states that the wavelength of radiation at which emissive
power is maximum by the black body is

DS %ﬂ:ﬁ@j@% DDDo(Dse S0, 5)Q S g8 ﬁﬂaﬁagéo ﬁ&%ﬁwoﬁag H8&ea S0
850

Options :
directly proportional to the temperature of the black body
§e]5;% S ﬁ%ﬁdﬁ: BHSTETH PSSt FoiheH

97108327061. #

inversely proportional to the temperature of the black body
%5; S ﬁ&[ﬁé& QS5 rSoSt Jotwod

97108327062. ¢

directly proportional to the square of the temperature of the black body
éej;l S SEEKSD S8 NS FS0ST BoHSDH

o !

97108327063, #



mversely p1‘D])01‘tiona] to the square of the temperature of the black body

5HE SS sfKSH S8 S D dSos® w0
-;-n (]

97108327064, #

Question Number : 67 Question Id : 9710836773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The amount of energy received in unit time on a unit area perpendicular to the Sun’s
direction at the mean distance of the earth from the sun is called
5= wdas&% HKen S80St &K%, w&s&% wdeonom 5T e:‘m o 2.% | Se5en

Do of [Kare swos® (K&roT 4890 Tlelvdot

Options :
solar constant

T8 Roco%0
97108327065. ¥ @

solar radiation
T ED8S 050

97108327066. *

intensity of solar radiation
T 5D8Ees e@@ie!

97108327067. #
total solar energy received by the earth

& (K&rod Swdo RESE

97108327068. #

Question Number : 68 Question Id : 9710836774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A point in phase space represents and of the particles.
EoSEosS® 2.8 oy, Seacsne DB OB NS
SrOG06.

Options :

position : velocity
-\ -
S0 ;3 o

97108327069. #

position ; momentum
™ : L
S0 - ﬁ&%éﬁo

b

et

97108327070. ¥

velocity : momentum
S0 ; (BSgo
(.

97108327071. #

momentum : energy

|'cSaS§3’€o . %5

97108327072. ¥ *

Question Number : 69 Question Id : 9710836775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Photons obey statistics
FereSen oI Qogrg¥ %ﬂg DoHSo

Options :



Bose — Einstein

S8 - 258
97108327073, ¥ &

Maxwell — Boltzmann

$E)3E- S EEDS

97108327074, ¥

Fermi — Dirac

. \_;El, E
97108327075.

Classical
7 & oD
5

97108327076. #

Question Number : 70 Question Id : 9710836776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An example for the temporal coherence
S0 (temporal) JoaxSS%H 2.5 saedSen

Options :
Young's experiment

g
07108327077, % OO ([SSericHo



Lloyds mirror experiment
eeo0&) 58Ye (5CTT=rKas
(.
97108327078. #

Biprism experiment
& 555-@5 Eﬁoﬁwﬁ&iw

97108327079. %

Michelson interferometer experiment
DESTS égés’daa SO @oimm

97108327080. ¥

Question Number : 71 Question Id : 9710836777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The relation between path difference and phase difference is
DEP0SEN DO STrosE e aiaég Soaxodo

Options :

phase difference

path difference =
2

ST 0e¥E50

2

SEP0SES0 =

97108327081. #



phase difference _ phase difference

A 27
SErosEsy  BTTOSE0
A - 27

97108327082. ¥

path difference = 2x * phase difference
DEOBESW = 2T * KgeoSE5n

97108327083, #

phase difference _ phase difference
27 A

SErosEsy  BTOSE80

2T A

97108327084. #

Question Number : 72 Question Id : 9710836778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A thin sheet of refractive index 1.5 and thickness 0.01mm is placed in the path of one of
interfering beams of light. The path difference observed is

0.01 &.8y. Ho&sn HBOS® &S@aﬁ&iﬁ XeeSo 1.0 Ko o8 Do Jo¥H So
é\gé@%ﬁf&a 550 880 JomoS Y 0.5 e HFoS® S0IHINEH SOR HorosSo

Options :



1.5x 10”m
97108327085. #

0.15x 10°m
97108327086. #

= -6
5% 10" m
97108327087. ¢

-4
1x 10 m
97108327088, %

Question Number : 73 Question Id : 9710836779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the Newton’s rings experiment, the diameter of dark rings is proportional to
Srges Sockre (HRBrKoS®, 08 &g (dak) Sockre oogo %
BHPS0S® Sow00d.
Options :

Natural number

H5e Do LIS
97108327089, #

Square root of natural numbers
D5z HoHTL SFDITO MY

97108327090. ¢



odd natural numbers

SR O K:oa::g&:
97108327091, #

even natural numbers

L8055 50@5@
97108327092, #

Question Number : 74 Question Id : 9710836780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The resolving power of a grating
S ™y
Re30A B O\E% S T*eHEco
L i &

Where A, n and N represent the wavelength. order of the spectrum and total number of line
on the grating surface, respectively.
8%, A1 S0 N oo S0k 850, SEOHW (spectrum) B0 SO Lﬁéﬂoﬁ Seoo

= o . o Py N
2 Swgo Al DoHFOD HIeDIPow.

Options :
A n
AA N
97108327093. ¢
A
==
AA
97108327094, #
AL =nN

97108327095, #



H

Ad=—
97108327096. % N

Question Number : 75 Question Id : 9710836781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a Fresnel zone plate, waves reaching the image point through any alternate zones phase

differ by

2.5 BIE SHodke JoiST $8on Doty SBH SSoren & AsPosE Hodwo oo
(- (. et

S SRS DPLo &%
Options :

#

4
97108327097. #

T
2
97108327098. ¥

T
97108327099. ¢

97108327100. #

Question Number : 76 Question Id : 9710836782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



If the angle between axis of polarizer and analyser is 45° then the intensity of light
transmitted by analyser is times the intensity transmitted by the polarizer

Eﬂaéeas‘@ Bvblelerty cﬁﬁs’,s’ e ©fo cﬁacﬁé §%:045%0 5o, oﬁ_ﬁié&ﬁﬁ?& N
E‘EK’:&J &Sao_:":o:s 08 @S&S&asﬁ o @%ﬂd&ﬁacﬁn‘g Silel 5@&5&- 3
So&n0d.

Options :

1
97108327101, % 4

97108327102. ¢

alw

97108327103, #

ZET0
97108327104, ¥

Question Number : 77 Question Id : 9710836783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A half wave plate is used to produce a phase difference of between ordinary and
extra-ordinary rays.

e_ﬁcé SE0K o5 oS $HBOH warerdt 3&mase &SJQS:S
S0S85080 w8 (produce) ToHowd sSSrAUED.




Options :
97108327105. ¥ 0

a

2
97108327106. ¥ =

I
97108327107 ¢

21
97108327108, ¥ <

Question Number : 78 Question Id : 9710836784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The spherical aberration of a combination of two thin lenses, of focal length f; and 5. s
minimum when their separation. d. is

5o5°52E HESS0 s’&%orw Sothea¥, i Hdoe L @8_55066&513 Ko Soda 53@15{%&
DoB=N SoSoe é:c}i:g H0&S0RS &80 .

Options :

d= fl = fjg
97108327109. ¢

d= fl + fg
97108327110. %

d= fi fg

97108327111, #



d= f1 fg.f"lz
97108327112, #

Question Number : 79 Question Id : 9710836785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In optical fibers. the core material refracting index 1s the refractive index of the
cladding material

E%::gg 22885°, g2&0h &S@eﬁo‘&ﬁ Foea¥ s, e_-::od@::r‘io R0 o‘S’Lge_S&ScS Xeaso o

T =otnod.
Options :
equal to
~ e
07108327113, % TS0

less than
6&&5

97108327114, #

slightly more than

03[0 o) g_as
97108327115, ¢

less or more
SEYIN S )

97108327116. #

Question Number : 80 Question Id : 9710836786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Two electric charges —q and q are kept by a small distance. At the mid point between the
charges. the electric field E and electric potential V have values

—q DB q 9 Botd QDS udren §PoT0 ErEoS® St 8 HEs Dotdsy
S8 865355 51_‘50 E 58a% c‘i}r:ia:sg 50 Vo Deoden

Options :

E£0.V#£0
97108327117. #

E=0.V £
97108327118. ¥

BADLN=0
97108327119. # '

E=0,V=0

97108327120. #

Question Number : 81 Question Id : 9710836787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The electrostatic field 1s conservative does not mean that
%6 &@55 :s;'i:_efo &dgdﬁéacm&f 508, = t%o& N&ore e_-:n;\"fcgoa:oﬁf S0

Options :

the potential difference between any two points is zero
D 8o Do SIS o%‘“@@oﬁjg S&o $°eS50

97108327121. ¢



it 1s the gradient of a scalar potential
R wbr TRYHE Fng). (Saseaes
97108327122, = -

it curl is identically zero
o 8§ Arrgl8 K880

97108327123. #

the work done in a closed path inside the field is zero
90688 §;Le5c::r&‘3'5<% 28 Ko HB0S® :BAS HQ 750
97108327124, %

Question Number : 82 Question Id : 9710836788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Gauss’s theorem. electric field of an infinitely long charged wire 1s proportional
to

i) Ragﬂodéw @”@Sﬁc’.fo. e 50X @ﬁ@cﬁ g a5 RB0E); &)65355 ELéo @o&b =83
BHS D PSSt wood.
here r is the distance from charged wire.

= 5_65 r ¥ SXH0d &r&o.

Options :

97108327125. # !

1

el

I
97108327126. ¢



[+

—
*

97108327127. #

97108327128. #

Question Number : 83 Question Id : 9710836789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the strength of the magnetic field at a distance ‘r’ near a long straight current carrying wire

. . o
1s B. then the value of the field at a distance E 1S

2.8 &5&& é’“c‘é@:ﬁ 8K Hod T ErEos® 55}45& 2.8 Doy aicg e:ﬁc:ﬁj%ﬂ&_ ¥ @Lé

EC:.eSCSO B wona Er80S® 0B woHIe) o8 gl_ef 2‘6650

| =

Options :

97108327129. ¢ 2B

4B
97108327130. #

97108327131. # &

B

97108327132, #



Question Number : 84 Question Id : 9710836790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following law gives the direction of induced emf ?
808 QS® ANHHo BBS DT s 2edEDH SrdGHod ?

Options :

Ampere’s circuital law

w0&H0HE Swch QoHho
97108327133, %

Faraday’s law

FEE QOHD
FEE QoHsho
97108327134, %

Lenz’s law

So& oHHo
97108327135, ¢

Biot-Savait law

20DE - D35 QoHeHo
97108327136. # =

Question Number : 85 Question Id : 9710836791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Total electric flux through a closed surface is equal to the charge enclosed by surface. This 1s
the following law.

2.8 JofS Swo aeeov 33 o &35355 @8ir0, 8 Swo ¥ e S® &)
3708 JSrSo. & QoHhho

Options :
Lorentz law

SoE oHHo
97108327137, %

Gauss’s law

"o QoHeho
97108327138, ¢

Kirchhoff™s law
& QoHeHo
97108327139, ¥ &

Faraday’s law

88 QoHho
97108327140. #

Question Number : 86 Question Id : 9710836792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Balastic galvanometer is used to measure
DEDE rotrSToSo §°O3 o0’
=

Options :



resistance

D5%%0

97108327141. #

charge

230
97108327142, #

current
&355355 ’E&mﬁ'o
97108327143, ¥

voltage

97108327144, # e d

Question Number : 87 Question Id : 9710836793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the distance between two long parallel current carrying wires is doubled. then the force
between them becomes (where F is the force between current carrying wires)

&&55 D88y oo SPERS HSross BiKe HEg &roel) 3o Ty, o8
SEg 200 (28« F &655 (5085 8Ko DG 200 S dr0b.)
Options :

zero

X:Jcaﬂ;t
97108327145, %

Fi2
97108327146. ¢



97108327147. ¥

2F
97108327148. ¥

Question Number : 88 Question Id : 9710836794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The displacement current is
Ko .
S [50% [Kaeseo
& — —

Options :

Static electric field
%6 &&55 gj_éo

97108327149 ¥

static magnetic field
535T) |
BE w08 glSo
97108327150. %

time varying electric field

sc00S° 58 &365355 E;L_do

97108327151. ¢

time varying magnetic field
- 'k‘ .-I
$00S8° &8 w08 FSo

97108327152. #



Question Number : 89 Question Id : 9710836795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The speed of electromagnetic wave in the free space
dseso%0s® D g% ﬁﬂa_oé SSorre S&

Note
Where u and €, and represent absolute permeability and absolute permitty of free space.

o8
By, HOD €,e0 Opsedo NG DB)OH DO HBA HED DBW DB

[

" O
S D00,

Options :

—_—

| 1 r
07108327153, % VHolo

1

=

97108327154, ¢ ¥

H, €

e

97108327155, #

1

;IO EG‘

97108327156. #

Question Number : 90 Question Id : 9710836796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A moving electric charge produces
SO0 DBgerSFo ASBIG

Options :

electric field only
DS FSo S|

97108327157. #

magnetic field only
@d‘aﬁﬂ&_od E;’Lefo 5?{_633

97108327158. #

electric and magnetic fields
DeDGS HBOHH @d‘aﬁﬂa_oé

o,
(E_(a._
G

97108327159. ¢

no fields
N EILED@:’ S0

97108327160. #

Question Number : 91 Question Id : 9710836797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the photons of energy 20 eV are incident on a photosensitive surface of work function
10eV., then the Smppmﬂ potential of 1t 1s

20 eV 38 EOAS PieeSen 10eV o ngﬁuﬁamo Ko 2.8 8es® mge (K588 55
S0 P IS HonSHed o= Q&S %80

Options :



T

97108327161. ¥ ~

0V
97108327162. ¥

5V
97108327163, % 153

30V
97108327164, ¥

Question Number : 92 Question Id : 9710836798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Franck-Hertz experiment establishes the
0§ — g (HBrKo  Bod R AgeBpod.
- & &

Options :

spin of electron
&.‘J&Sﬂg S0 S

97108327165. #

wave-particle dua lity
SBoK-Sew OBt HTEPSo

97108327166. #

quautitization of momentum

Q‘Ssc?:rf swoé E&e20

97108327167, % <



quantization of energy levels of atoms

)
SESrengoS® %8 row Sﬂcsoésgdaao
97108327168, ¥ &

Question Number : 93 Question Id : 9710836799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Davisson-Germer EXpEl'ill]EIH demonstrates

OIS — BR$S BBrKo AETROHIE
Options :

size of the electron

WO S HBTTeaSD
97108327169. # e

diffraction of electrons
QO F S0 DY

97108327170. ¢

spin of the electron

LS NS
97108327171, % &

non-existence of electrons in the nucleus
B0|850S® do 50 Hen sk FESEo
o gt
97108327172, %

Question Number : 94 Question Id : 9710836800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



- The ground state energy of the hydrogen atom is -13.6 eV. The energy of the third excited
state 1is

(60 nS H8Sew e grow 48 -13.6 €V wowdS® 0 A sSRS grons®
33
Options :

97108327173, % ~13-6 €V

3.4eV
97108327174, %

-1.51 eV
07108327175, ¢ TL-01 €V

97108327176, % Z€10

Question Number : 95 Question Id : 9710836801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The time dependent schrdinger wave equation relates time differential and

space differentials.

50 eErSdy @'5&055 SEoX H&oESeo0. sce 9580 HBSH o
3580 eeS® Ho2)085) 08 Sotn0d.

Options :

first order : second order
SNEE SERE . ToksS X8Xa

97108327177. ¢



second order : first order
SO XERE . ol X8RS

97108327178. #

first order : first order

S0 SERE ; oo SSKE
97108327179, %

second order : second order
S0 SEXE . Toss S8KE

97108327180. #

Question Number : 96 Question Id : 9710836802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If two nuclei have their mass numbers in the ratio of 1 : 3 then the ratio of their nuclear
densities would be approximately.

Bo& 30@5 o ($S50°8 Komge NG l:3m™ ¢08, o8 Eo@ié %ﬂo@d@ NIyt
VNS LT Cle LR - To TecO PN

Options :

Lad

97108327181. #

4d
[

97108327182, %

1

3:1

97108327183 #



d 50 |
97108327184, ¢

Question Number : 97 Question Id : 9710836803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A radioactive sample has a half-life 5 minutes. What fraction of the sample 1s left after 20
minutes.

o8 B8R 88 Harfo R egrotugeehHo 5 fSnare wons 20 Hs5nlene
Sooq s TS oS R0 LA Sotnod.

Options :

1
97108327185 % 4

97108327186. #

97108327187. ¢

]

32
97108327188. *

Question Number : 98 Question Id : 9710836804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The relation between the radius. R. and the mass number. A. of the nucleus is
Eoffis’ @gﬁﬂgo R 585w @555@%‘ 3605535 A % Ko Soaodo

Options :
213
R=R, A
97108327189. #
1/2
R=R, A
97108327190. #
1/3
R=R, A
97108327191. ¢
1/4
R=R, A

97108327192, *

Question Number : 99 Question Id : 9710836805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A positron has a charge . and a mass equal to that of a / an
%ﬂﬁi}_’mg ES?&& EOR wowod HBoH ¢ ($S50°8 8

RVSTeSore oo,

Options :
+1L. proton mass

+1. |%E$F°S f(ﬁégﬂ"%
97108327193. # = =



+1. zero mass
+1. FCUINR
97108327194, % o~

+1. electron mass

1, LS (BS50™8
97108327195. ¢ -

— 1. electron mass

-1, QoS (5S50°8
97108327196. # et

Question Number : 100 Question Id : 9710836806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The magic numbers indicate the
. ™
SR8 Soggen KreDgPom

Options :

fissile character of nucleus
EOE.SS’ c‘i)z.,‘;,dé ©5£90

97108327197. #

number of protons and / or of neutrons and these confer nucleic stability

@'EET"S@ 0'308;35 58w / Sae 5?5&35@ E(':los_ag. Bo|5¥ &6@5&& SO0
97108327198, ¢ camily



number of electrons that confer the atomic stability
"
NO S HoHg SBSTen By SrDdrow
- ) @ oJ oL ==

97108327199, # oS

atomic masses that confer atomic stability
A ™
OESToen (B35 0%, HETeen RS Joedgron.
L. ?
97108327200. ¥
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Question Number : 101 Question Id : 9710836807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The life cycle of Polysiphonia is
OV G FDSIES

Options :



Diplontic

Earoés
97108327201, % ™

Haplo diplontic
SEr BoBE

97108327202. ¢

Haplontic

SEaroHE
97108327203, ¥ ™

Haplo haplontic

S FipoSE
97108327204. *

Question Number : 102 Question Id : 9710836808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Female sex organ of Chara is known as
oo @) () BoRE ©HEDHBEND B> ©oLrSd
Options :
Globule
RS
e o

97108327205. #



Archegonium
8 fQado
97108327206. ¥ ~ &

Antheridium

woBb&c5m
97108327207, %

Nucule

éﬁﬁ}ﬂ;@
97108327208, ¢

Question Number : 103 Question Id : 9710836809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gram positive bacteria retains the gram stain due to the presence of high amount of
30 GEwd) 6508 o IrerE @okio S0 (P FEdS wbgéacﬁﬁ rOPoS & I
€00808.
Options :
Lipopolysaccharides

DEFFD LB
97108327209. *

Phospholipids

@ﬂ@‘i}@ﬁxﬁ}w
97108327210, %



Glycerides

B38en
97108327211, %

Peptidoglycan
DRE Foeew

97108327212. ¢

Question Number : 104 Question Id : 9710836810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reticulate chloroplasts are seen in
BB%BE TB°arper sowd® EI%WEaw.

Options :
Chlorella
£oez

97108327213, %
Oedogonium
ASE R DAH

97108327214. ¢

Ulothrix
G &(BS)
97108327215, #



Chlamydomonas

& DT
97108327216. *

Question Number : 105 Question Id : 9710836811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is used as blood coagulant
Bod =0S° D& SR K& BBodtr8 eDBrKHEE08.

Options :

Alginic acid

wdHIE eindm
97108327217. ¥ & &
Agar-Agar
orb - oXd

97108327218. #

Carrageenan

SRS
97108327219, ¢ = ©

Fodder
256

97108327220. ¥

Question Number : 106 Question Id : 9710836812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are CORRECT:
Bod m;w;?ém@esa DB/D [BFTIH/D

1. There is no sexual reproduction in Blue green algae
QO ©%dy) Fdero&® Bohd HXHEE B>
2. There are few marine species of Blue green algae

QO ©%Hy) Fderod® Y SHn(Emrden aTom

There is no asexual reproduction in Blue green algae
QOB Bderes® ©BohE HEDSG B

Lad

4. There are no marine species of Blue green algae
QO w%dy) Fdered® Sh(Berden BY
Options :
1 &2
97108327221 ¢ t Epdeg
2 &3

2 Hodcw 3
97108327222, *

1&4

2 SHdchw 4
97108327223, %



3& 4

3 dciw 4
97108327224, ¥

Question Number : 107 Question Id : 9710836813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Following is the cell wall component of Fungi
Bod aedS° 28 8DoBo Gw¥) Eeo 555 oeifo

Options :
Starch
)
97108327225. %
Chitin
85

97108327226. ¥

Cellulose

eSS
97108327227. % J

Glucose

KpstE
97108327228, %

Question Number : 108 Question Id : 9710836814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements are NOT TRUE for Viruses
8T DRAHoE® (Bod TrrmTres” KA DD

B

I~

L

Options :

Destruction of bacteria by viruses called Twort D herelle Phenomena
36T S 2287 e380cse deEto ¢ B30T HTRIT HeoSHEHOS

Viruses contain DNA and RNA as genetic material
SERe0 & IS @ HodaH 88 I @ O eXyHEETredT DAL

The protein coat and genetic material together are called Nucleoplasmid
SroSGEe Frd HodaH ayfderren & TodR 0 SpiTrarir HosnthEod

Viruses replicate within the host using host machinery
D8/ D (Frosos® aTn@r © 08D CHoBEE T (HSERSERN BoHErow

2&3
2 SoBacw 3

97108327229. ¢

1 &2
1 So8asm 2

97108327230. *



1,2, &4
1,2, $60%0 4
97108327231. #
48&3

4 8¢k 3
97108327232, %

Question Number : 109 Question Id : 9710836815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct sequence of spores formed in Puccinia
& (Bodard&® HENIE™R Derodsh HB (BB HBo[0s
Options :
Basidiospore-Uredospore-Teliospore-Aeciospore
BHETRE -~ cBEREE - BOVEE - DHBHE

97108327233, #

Basidiospore- Teliospore - Uredospore - Aeciospore

THETREE - BOFE - owdERHE — DBREE

97108327234, #

Aeciospore-Teliospore-Uredospore-Basidiospore

STrRHE - BOVED - cwBERES - BRHETEREE

97108327235. #



Uredospore - Teliospore- Basidiospore - Pycniospores
aBERHT - BOHE - BHEGREB - EHTHG
97108327236. ¢

Question Number : 110 Question Id : 9710836816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange the following events of Virus Replication in a sequence.
S (B0l arold SR Y (H8ERHEYN oo e Nslicte N ©Y)ol.

1. Assembly 2. Synthesis 3. Adsorption
QDI E0 S0ZRee0 088500
4. Replication 5. Penetration
ESIEIRSIIOM S BeED
Options :
5232421

97108327237. ¥

32524-1->2
97108327238. %

32522-4-1
97108327239. ¥

4312522
97108327240. #



Question Number : 111 Question Id : 9710836817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Circinate vernation in younger leaves is seen in
RBUIE FHAS O VWhes® EALHos
Options :
Gnetum
97108327241, %
Marsilea
97108327242, ¢ écﬁéf:'@@ﬁﬁ
Lyvcopodium

BE* & D
97108327243, %

Equisefum

éﬁ;?aé.ﬁa
97108327244, %

Question Number : 112 Question Id : 9710836818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statement is/ are TRUE for Anthoceros
STET B & 808 TrrSnes® DB/D $SeFHE/D

1. Thallus of Anthoceros shows Blue Green Algae
eITIBR Y ol JDeHHY) Bderon wrdsod

2. Thallus of Anthoceros shows Mycorrhizal Association
STRED @) ol HEDS SRFLHITH Ir3SH08

Lad

Thallus of Anthoceros shows aerenchyma chambers
STIET ) wred JBoTEr Keben Srddod

4. Thallus of Anthoceros shows genunae on its anterior side
STBT ) Tl FEFH B Tehiod

Options :
1 only
97108327245, ¢ LRI
land 2
1 SBoso 2

97108327246, ¥



3and 4

3 Sodow 4
97108327247, ¥

4 only

4 SRR
97108327248, #

Question Number : 113 Question Id : 9710836819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Bower’s theory of Progressive Sterilization, the most advanced and complex

sporophyte is seen in

B°586 @), wHrBcd POBEHS oS0 (T80 6L ol B DS B0t BWDOE
Options :

Sphagnum

VDD
97108327249, % Q-"i%
Marchantia
SorTRIoeGT
97108327250. # =

Funaria

DO
97108327251. ¢



largionia

EB @RS
97108327252, %

Question Number : 114 Question Id : 9710836820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gnetum resembles Angiosperms in many respects. Identify the FALSE statement
QoD wrer 8% wor@PYT) e VO dotwod. b TvsR) Hiososd

1. The leaves have reticulate venation
een 38E ;E%:‘;'S_ Si[e TS0 DA Botrow

!x.)

The presence of vessels in xylem
RIS Treren aodEo

The tetrasporic development of female gametophyte
NS N RS ©DHS BerRELE 558

Lad

4. The embryo is monocotyledonous
2050 IS AOESD

Options :

1
97108327253, ¥

2
97108327254, %



-
2

97108327255. #

97108327256, ¢ 4

Question Number : 115 Question Id : 9710836821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange the following geological Eras. in the chronological order

& (80 PRGOSO SPOESPROTE0 ©E)R.

1. Mesozoic 2. Archeozoic 3. Coenozoic 4. Paleozoic
SoRPoronE @6&&?@0&}5 % SFemonE TPOTooeeoNs

5. Proterozoic

[Er&oreonE
Options :
7 % 321222425

9710832725
97108327258, ¢ 22>24>1=3

o .
97108327259, % 222242123

o IR -
97108327260, ® 472352123

Question Number : 116 Question Id : 9710836822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In the sporophyte of Byrophytes, the fertile cells are represented by
PErr 250’ Er8REo S0l FES0SIS Serwo

Options :
Elaters
S5t
97108327261, % '
Elaterophores
S eleN e
97108327262, %
Columella
TR neTe
97108327263, % os
Spores
erodR0

97108327264. ¢

Question Number : 117 Question Id : 9710836823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Sterile multicellular filaments with capitate heads found intermingled with antheridia of
Polyvtrichum are called

FOTEDHE’D soPbBrE® arétn LoKkdD Gl %D:pé Soen Ke %@5 25080 SoHded

e WOLRD
Options :

Paraphysis
T RN
97108327265. ¥

Perichaetial leaves

BB 0HS een
97108327266. ¥

Elaters
B
97108327267, % g2

Elaterophores

S5 eleNWiden

97108327268. ¥

Question Number : 118 Question Id : 9710836824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A specimen or illustration used by the author or designated by him as the nomenclature type is
called

BSons 85 Soe eHoSnEL S Bre amirdn & TRSehd Bhrr Hendntdosd.
Options :
Paratype
FTEHD

97108327269. ¥

Isotype
2RSS
97108327270. ¥

Holotype

RSB0
97108327271, ¥

97108327272. ¥

Question Number : 119 Question Id : 9710836825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Obdiplostamenous condition is found in
SSEF DIV 2018 nowS° EXFSnéos

Options :



Amaranthaceae
BTPORS
97108327273, %
Asclepiadaceae
@i:;@ﬁ::&cﬁo'i:
97108327274, %
Malvaceae
o
97108327275, % ‘ﬁﬁéﬁ“j

Rutaceae

B &3S
97108327276.

Question Number : 120 Question Id : 9710836826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Translators are seen in the family
ErRTLY S FTOS® B

Options :
Asclepiadaceae
@29 ETDD

!

97108327277. ¥



Amaranthaceae

SEvsiopeln e
97108327278. #

Magnoliaceae

SR DEHR
97108327279. %

Malvaceae

ST
97108327280. #

Question Number : 121 Question Id : 9710836827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Presence of palea and lodicules is the characteristic feature of
2O B erlEren SOR @08 ©%e0

Options :
Palmae
SRS
97108327281, %
Lamiaceae
DD

97108327282. ¥



Amaranthaceae

OITOBY
97108327283, % B

Poaceae

DD

97108327284, ¢

Question Number : 122 Question Id : 9710836828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nomina conservanda
P EJToTe WP
Options :
The long usage names are retained
&8 o8 2 v Gotron
97108327285. ¥
[llegitimate names are rejected
SELDEEIR 2 BEYBOSHD
97108327286. ¥
There should be a name for a taxon
o ¥ e Ty o % 3
0710832727 % S5 EPTNID 28 DHowd
The name of a taxon to be printed

S e
97108327288, % TTYR 2B H0BoTRdEE0



Question Number : 123 Question Id : 9710836829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The family Lamiaceae is identified by
QR &dToe Mfodnbod

Options :

Cypsella fruit and many stamens

i:'a‘.ﬁoj@ D0 LB Trer Bhoeen

97108327289. #
Infundibuliform Corolla and Quadrangular stem
308 20darE) B8 Bt Sty oo

97108327200, % @ ¥0 50 ¥

Gynobasic style, four ovules and didynamous

DS BRE 6, vrentd DesBizren HoBaM
97108327291, ¥

Two stamens and regular corolla stamens

BoH Bdoren B0 b By BaSHD Bdoeen
97108327292,

Question Number : 124 Question Id : 9710836830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

H}'prf's suaveolens belongs to the family
PR DTSR S adB TosHs



Options :
Apocyanaceae
ORI
97108327293, #
Lamiaceae
g -
97108327294. ¢ SE0GD

Amaranthaceae

LoTroRN
97108327295, %

Poaceae

DTS

97108327296. ¥

Question Number : 125 Question Id : 9710836831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is correctly matched
% Bod HS° Sory SBETRB?
Options :
Amaranthaceae- Retinaculum

©HToRY - BT oD
97108327297, %



Malvaceae- Cruciform corolla
SR - Erhar) 88°%g
97108327298, %

Poaceae- Spikelet

DD - YESES
97108327299. ¢

Apocyanaceae- Didynamous condition

oD - BRIDD H628
97108327300. % 9

Question Number : 126 Question Id : 9710836832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characters are seen in Asclepiadaceae
& Bod &S @hé@i}&{ﬁ:i:é‘s 20803 ofeen

1. Staminal corona 2. Fruit is a pair of follicles
@;&bsééi_ 565% P00 - FOED) ud

3. Gynophore 4. Verticellaster
BS°YFE 50295

Options :



1 only

1 Soo(ad
97108327301. *

1 & 2 only

1& 25783
97108327302. ¥

1 & 3 only
1& 358
97108327303, ¥

2 & 3 only

2& 3ESD
97108327304, *

Question Number : 127 Question Id : 9710836833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Bentham and Hooker published his work 1n the book

3@5} SO FreEd E5 SV (DDHdodS HAo
Options :

Genera Plantarum

EJo® SFPOERERD
97108327305, ¥



The families of flowering plants
FNOT &P PBB0R srod

97108327306. #

Origin of Angiosperm plants
8ES 89 8QDFYY) 80
97108327307. ¥

Die Naturlichen Plafenzen familien

& J8BES LIS a0dS

97108327308. #

Question Number : 128 Question Id : 9710836834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange the following codes in a chronological order
& (B0d FEoD srerHBHos® Srdysw

1. Rochester code 2. St.Louis code 3. Tokyo code 4. Berlin code
5336 &6 oy erowd 8°&  &°8% &°F 203 S8
Options :
1.43.2

97108327309. ¢

1.4.2,3
97108327310. ¥



4123
97108327311, #

423.1
97108327312, ¥

Question Number : 129 Question Id : 9710836835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vessels are absent in which of the following families of Angiosperms
oSS TeEren B9 oS Eles Bodnooren
Options :
Ranunculaceae & Malvaceae
R 58D & é}véﬁ;
97108327313, %

Myrtaceae & Cucurbitaceae

QT & HHE HED
97108327314. %

Winteraceae & Trochodendraceae

DotBY & S RoED
97108327315, ¢

Casuarinaceae & Aizoaceae

T;KJ}&BE: & ©onE 3oL
97108327316, #



Question Number : 130 Question Id : 9710836836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The type of sclereids present in the fruits like Guava and Sapota are
a0 B Ik Dedned® aoch ?\J;éécﬁ)@ Sseen

Options :
Macrosclereids
SrET2E e
97108327317. % e
Brachysclereids

[ag

@F&E&_ Boen
97108327318, ¢
Astrosclereids
SRF0en
en T
97108327319, %

Osteosclereids

@&ﬁg?}:&é&aw
97108327320. ¥

Question Number : 131 Question Id : 9710836837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Tetrasporic and 8 nucleate embryo sac 1s
BerR%8E $Hoch 85380 oo =5

Options :

Polygonum type

FOREID B0
97108327321, ¥

Fritillaria type

L8866 80
97108327322, ¢

Oenothera type

a2 a8 %0
07108327323, %

Endymion type

So&OSER B0
97108327324, %

Question Number : 132 Question Id : 9710836838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Adventive embryos are derived from
VT 08D Horren o DLW

1. Synergids 2. Nucellus 3. Integuments 4. Zygote
25QEeD SRS Sp 0oLy B
Options :
1 & 2

97108327325. #

2&3
97108327326. ¥

97108327327, % S &4

1&4
97108327328. ¥

Question Number : 133 Question Id : 9710836839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jala brahmi 1s the common name of
2OE8R) Gho8) Fprdes D

Options :



Gymmnema sylvester

2D L™ HTHE
97108327329. #

Andrographis paniculata

SOE(THE S5 Be
97108327330, %

Bacopa monnieri

o= 36
97108327331. ¥

Centella asiatica

o8er DTS
97108327332, *

Question Number : 134 Question Id : 9710836840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The active principles of the following medicinal plant has steroidal properties
208 TAZTIND) @S HDS Dorand oXcren ZOA @obd.
L L-2E = L ™ (-5 ey
Options :
Emblica officinalis

Do VHVTOD
97108327333, ¥ '



Withania sommnifera

Qod P&y Do
97108327334, ¥

Rawnwolfia serpentina

Dﬂé)@ojcﬁzﬁ B)odae
97108327335, #

Phyllanthus niruri

PR F0d
97108327336, %

Question Number : 135 Question Id : 9710836841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is used in curing anaemia and jaundice
©ADCTe DB Y VBHS® BIY TotoeeS?

Options :
Bacopa
oSS
97108327337. ¥
Gymnema
Fe] \
BTRoe

97108327338, #



Asparagiis

PN oLratd
97108327339, %

Phyllanthus

DETORHD
97108327340. ¢

Question Number : 136 Question Id : 9710836842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Plant cell walls are interconnected through plasmodesmata to form a continuum of cytoplasm
called as

e Seaftten aEREGRML owo° HXTEE5e Dod VEoSTcH LeroSB(BH0 VKT ae
Slelhle))

Options :
Protoplast
RFSLD
gl ¥
97108327341, ¥
Blepharoplast
ZE D

97108327342, #



97108327343, ¢

Cytoplasm
S FOD

97108327344, %

Question Number : 137 Question Id : 9710836843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Middle lamella of cell wall consists of
ZeaBSessm Bwd) e erder HAV BOA dotwod.

Options :

Ca2+ and Mg2+ only

Ca2 +508c Mg2 + SrED
97108327345. % .

Mg2+ only
97108327346, % Ml P

Pectin only

- 1E]_ - "_‘
97108327347, # “%5 Y téa“



Ca2+. Mg2+ and Pectin

Ca2+ , Mg2+5:86a05 280
97108327348, ¢ =

Question Number : 138 Question Id : 9710836844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Exocytosis is also called as
IENUTRD B Ber ©oErd

Options :
Phogacytosis
SO REPRD
97108327349. %
Pinocytosis
SRR

97108327350. #

Cell vomiting

O 8oR
97108327351, ¢

Cell drinking
26 (&o80oh

97108327352. #



Question Number : 139 Question Id : 9710836845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are TRUE about plant cell
0B Lo Sonos0d & Bod oo WBDIE D&

1. Plants lack plasma membranes

;KeE® apar) T dokdRFBwo

2. Plants lack centrioles
Be* Do@BrSen BERESEO

Lad

In plant cell. osmotic concentration is maintained by vacuoles
oEEe0S” emdE g o3k cGeSE DB EPoSmEdd

4. Plastids are interconvertible
TRE) TLosws ey TodHeaw
Options :
1 and 2
97108327353, % 1 S0BAD 2

2 and 3

2 Sbosw 3
97108327354, #



2.3and 4

2,3 Sodcw 4
97108327355. ¢

4 only

4 SrESD
97108327356. #

Question Number : 140 Question Id : 9710836846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which stage of prophase is Useful in identification of homologous Chromosomes?
TrRrerR (ETRrE et HB0HH% SSEERGE EF PR TwEBE O

Options :
Leptotene
SEPES
97108327357. ¥ ©
Zygotene
BRES
97108327358. ¥
Pachytene
FBET

97108327359. #



Diplotene
BERAS

97108327360. #

Question Number : 141 Question Id : 9710836847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Give the order of components in a single lipid molecule from head to tail
2.8 098 wmdHE S0 08 8% 8% e Frrred ¥ BHdnst Ehvfele

-

1. Choline 2. Glycerol 3. Hydrophobicregion 4. Phosphate
=05 Aesord PEDDE BesS FRYS

Options :

3-2-4-1
97108327361, #

193
97108327362. ¥

1432
97108327363. #

97108327364, #

Question Number : 142 Question Id : 9710836848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Most abundant type of RNA is
e SyBre 6ot RNASLo

Options :

Sn RNA

PR BB
97108327365. %

r RNA

97108327366. ¥ ©b ©Ba3

Antisense RNA

@0&?&:5{\] EIIRININ
97108327367, ¥

Hn RNA

RN 8D
97108327368. %

Question Number : 143 Question Id : 9710836849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In ayurveda medicine, the following deals with surgery
SODT S DLoS® INBE) KHBoD BB S8 (Bod TAE DB

L4

Options :



Bhela sambhita
Do KHotrs
97108327369. %
Ashtanga Hridaya
@%o?‘i STSAD
97108327370. %

Sushruta Sambhita.

S Boes
97108327371. ¢

Bhava Sambhita

N Dodre
97108327372. %

Question Number : 144 Question Id : 9710836850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which phase of cell cycle the lampbrush chromosomes are prominently visible
ZeaciBo %) @ 538° roDpR BT FrE S0 e Ed0tHdhod
Options :
Leptotene

SPAS

97108327373, #



Diplotene
BEEAS

97108327374. ¢

Zygotene
BRES

97108327375. ¥ =

Pachytene
éﬁ;&éﬁ

97108327376. ¥

Question Number : 145 Question Id : 9710836851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For large scale cultivation of 32 prioritized medicinal plants AYUSH had setup the following
32 (Bps B IwKe 78 DY FH B0 wcivR S (Bod =8 0D Thod.
Options :
CCRYN
SIS
97108327377. ¥
NMPB

D08
97108327378, ¥



97108327379. %

97108327380. #

Question Number : 146 Question Id : 9710836852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lichens are ecologically important as they
TS DoRBeB0rT 0gLIRD
Options :
Purify air
O éﬁ@ééé&o
97108327381. *#
are pioneers of ecological succession on barren rocks

20ed THP HogSSes STRAS Goo¥) BB toen
97108327382, ¢ v CRnadlt st

are symbionts of Algae & Fungi

©8 Hdai 3Dogre @uY) JrdHen
97108327383, %



are dissociated with mycorrhizal roots

EBesS & DEUCHDEDD
97108327384, #

Question Number : 147 Question Id : 9710836853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rod like appearance of chromosome with only one arm is seen in.
orhESof ErHofd o8 T8&° X920 BRrEStD

Options :
Telocentric
HE o BE
97108327385, ¢
Metacentric
oérwolBE
97108327386. %
Submetacentric
[DDer 0 BE
97108327387, %
Acrocentric
& o|BE

97108327388, #



Question Number : 148 Question Id : 9710836854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bond between enzyme and substrate must be
DOBD B JB(RE Doty ot wogo

Options :

Weak and long-lived

2O DH0 $HBcm S8=O%0
97108327389. ¢ E k)

Weak and short-lived
DOSFHDHHO LB I es*d¥o

-~
S

97108327390. ¥
Strong and long-lived

2O B Ebgp@ﬁo
97108327391, *

Strong and short-lived

2ODI8 HBA Jresedio
97108327392, ¥ &

Question Number : 149 Question Id : 9710836855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The enzyme nitrate reductase activity 1s influenced by
DOFD JEBES BETD 58 & T EHEEdSo wHHoR.

Options :
Boron
553
97108327393, %
Molybdenum
SrOHRK
97108327394, ¢ o
Iron
08D
97108327395 %
Nickle
QES

97108327396. ¥

Question Number : 150 Question Id : 9710836856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Oxygen evolution takes place during photosynthesis in green plants but not in bacterial
photosynthesis, because

NI I 562@@@&0@?&@@5}@5‘5 @éﬂjﬁs ReHEr0 2:rHEod, 50 wé&@ﬁ:ﬂ
SlelelpsleTovnlel 80Hé&® oo doHEed



Options :
Bacteria are prokaryotic and green plants are Eukaryotic

wé&cﬁ:ﬁ EPs005eEE HoBokn XY IwHen crssdTrEE
97108327397. %

Rate of O2 consumption in bacteria is higher than that in green plants

srEB00hE® @%{:@5 DABFR0 Sn0Z0s ST Gotnod
97108327398. ¥ & = 7

Only photosystem I is present in bacterial photosynthesis
wé&c‘sﬁ:ﬂ 258 £6es° ISR Telhvela
97108327399. ¢

Bacterial cell wall composition is different from green plant cell wall
@é&dﬁ}v BeaBdeS Lty eily) dwde Sndddo %08 OJore socnod
97108327400. ¥

Question Number : 151 Question Id : 9710836857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Phytochrome is a
2EED 2.8
Options :
Dimer

&roendo (Bnb)
97108327401 ¥



Polymer
7050
97108327402, %
Tetramer
Blernd
97108327403, %

Trimer
@2@5

97108327404, ¥

Question Number : 152 Question Id : 9710836858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statement/s CORRECT about Plasmolysis.
LAOD 80D (Bob TEETred® BB HI

1. Plasmolysis occurs when water moves into the cell
D Leros™8 IYNYto aFRADVT D008

2. An isotonic solution balances the osmotic pressure of the cytoplasm thus preventing
Plasmolysis.

2.8 oRerRE rdmo Dm0 Twd) (Baddten ST Sero [Thod. Soeoe
SERRDVRD zrBod

Cells shrink in hypotonic solution
Segren TOPEEOE (o E® HoDohddisron

Lad

4. Cells absorb water in hypotonic solution
Seren TPETOE (rdeos® DB (K&rarow

Options :
1 only
1 SooleSad
97108327405, *
2 only
2 S

97108327406, #



3 only
3 e
97108327407. %

2 & 4 only
2 & 4 S
97108327408. ¢

Question Number : 153 Question Id : 9710836859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which hormone is involved in Richmond-Lang effect?
&2 53565@?6} 855008 eroR JE EOA éotnod

Options :

Auxin

@E&S

97108327409, %
Gibberlin
20O

97108327410. %

Cytokinin

2657305
97108327411. ¢



Abscisic acid

@&JE‘GE o8&
97108327412, %

Question Number : 154 Question Id : 9710836860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a Aerobic Nitrogen fixer
Bob =& J8°DE 'S HX)5 2B
Options :
Chromatium

DR 0DD
97108327413, %

Klebsiella pneumoniae
28hoer SoRedase
97108327414, %
Azotobacter
w0 g0

97108327415. ¢

Clostridium

97108327416. #

Question Number : 155 Question Id : 9710836861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following i1s TRUE sequence to describe Photosynthetic electron transport in
Photosystems

&(808 >8S° Db @ﬁéﬁﬁﬁsgfﬂé‘s O[T ErYPEPE DNB0UERE BT (Essiw

Options :

P680—> Q—>Cyt-f = Plastoquinone —> Plastocyanine—>P700

$680 2 HmTPRIB-IP 7 FEETS 7 FRFRHIS ™ HT00
97108327417, % h ‘”

P680—>Plastoquinone = Cyt-f = Plastocyanine>P700
2680 FRFESS 2B-IF RIS 2700
97108327418, ¥
P680—Plastocyanine = Plastoquinone = Cyt-f =P700
680> apRFRIS = AL I 138-2F 21700
97108327419. ¥

P680—>Plastocyanine 2 Cyt-f 2 Plastoquinone =P700

2680 YT SHIB-0D 2arPFR-FFT25700
97108327420. # B ] = PR od

Question Number : 156 Question Id : 9710836862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The site at which the single stranded region appears on DNA refers to
8.95.08° HohodS el 40203 (@roso HID S0k



Options :
The leading strand

H&oR @305

97108327421, #

The replication fork during DNA replication
& AS O E8YS IHAos® (H8LErH0 DOY
97108327422, ¢
Site of base pair formation
B2 2owb woTin @) ew
97108327423, ¥ i
Seen in transcription
ErSBISS® SrEs)

97108327424, %

Question Number : 157 Question Id : 9710836863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following bacteria carryout photosynthesis
& (808 ;B0asrE® 88mediSoBrRBIND b DR O
Options :

Rhizobium
300

-

97108327425. #



Chlorobium

g56*0c%0
97108327426. ¥

Clostridium
F‘*@&cﬁoo

e
™~

97108327427. #

Aerobacter

536'5@&5
97108327428, %

Question Number : 158 Question Id : 9710836864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The organisms that completely lack cell wall are
ZeBS S5 o B £
Options :
Archaebacteria
@6&@%6@{0@

97108327429. #

Eubacteria

97108327430, # “Fe"sadi



Mycoplasma
Eo?%ﬂﬁﬂé

97108327431. ¢

Cyanobacteria

-, s ﬁ e
97108327432, # E‘aﬁ cvjelalony

Question Number : 159 Question Id : 9710836865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An increase in the level of osmotin, a polypeptide is a bio chemical response to
@ﬁfﬁé&i 5 &J“E}EJT%JQE ﬁ;o&: 2SS, 6 Sw¥) EIPADE Yo

Options :
Temperature Stress
SefS .88
97108327433, # i
Water Stress
D& .88
97108327434, % =
Salt Stress

&) 86
97108327435. ¢



Metal Stress

LS 2.8E
97108327436 %

Question Number : 160 Question Id : 9710836866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

White rust is caused in the following host
6T 20&S° Zenthdrod

Options :
Wheat
Reesosoen
97108327437. %
Mustard
BTN

97108327438 ¥

Sugar Cane

20X
97108327439, %

Potato

DOTTPEEN0
97108327440, %
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Question Number : 161 Question Id : 9710836867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pancreatic juice is stimulated by the release of
£208%0 DHe 3R T (DoLoBELEH0s

Options :
Secretin
JEES
97108327441, ¥
Cholecystokinin
SOt
ER—

97108327442, #



Enterokinase
Jo&FERD
97108327443, % =
Secretin and  Cholecystokinin

2EES B E’@%@EEE
97108327444, &

Question Number : 162 Question Id : 9710836868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the enzyme that breaks down lactose?
£ YKo TR 0BDH HHE?
Options :
Lipase enzymes
=.= ==
97108327445, % DB DOFD
Pepsin

B
97108327446. ¥

Lactase

alat]

97108327447, ¢ o



Amylase

2N

[T,

- T

97108327448, %

Question Number : 163 Question Id : 9710836869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Respiration 1s:

e oldre

Options :
Anabolic process
at L B
Qo=eeds (HISch
97108327449. % FTRE L

Physical process

T2 (S 8ch
97108327450, %

Biophysical process

97108327451, #

Physiological process

B (5B
97108327452. ¢



Question Number : 164 Question Id : 9710836870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the largest salivary gland of human?
e85 8 ©8Y Troraw (508 EE?
Options :
Sublingual gland
@&ﬁ%’?*@ﬁo@
97108327453, # iz
Parotid gland
Lierjtio
97108327454, ¢
Submandibular gland
a8ddros Herd (Ko
97108327455. ¥
Sub Parotid gland

SHLSEE (Kod
97108327456, # = s

Question Number : 165 Question Id : 9710836871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The amount of energy given by one mole of ATP is
ATP Goo¥) 2.8 Ted a)® 48 do&?



Options :
7.3 kcal

7.3 28 ==&F
97108327457, ¢

721 kcal
721 8. =&

97108327458. #

7600 kcal
7600 &. =&
97108327459, %
1000 kcal

1000 &. ==&
97108327460.

Question Number : 166 Question Id : 9710836872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following process will cause loss of net dry weight of organisms:
Bod &S DB EHho VL8 F& Y B5%0s

Options :



Photosynthesis
ety lelonsital{=Tovs)
97108327461, * o
Respiration
Gs][lov
97108327462, ¢
Growth

97108327463, % oD@

Assimilation

$80%Bes
07108327464, %

Question Number : 167 Question Id : 9710836873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Secretion of gastric juice is controlled by
& (Bod =RE® DB rmRE o (o mroe Achol@osnthEosd?
Options :

Ent erogastrone

Qo BTH
97108327465. #



Cholecystokinin

oLfEs
97108327466. % =
Gastrin

FF: =
o

20
e

97108327467. ¢

Pepsin
20

97108327468 #

Question Number : 168 Question Id : 9710836874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one yield highest energy per gram
& 2o TES® 26 ¥ s ©&BE 80 =od?

Options :
Carbohydrate
~5Ee
97108327469, #
Protein
@56'355

97108327470. ¥



Amino acid

SDS® epEw
97108327471. ¥

Fat
= %

97108327472. ¢
Question Number : 169 Question Id : 9710836875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During hibernation frogs respire through —

2P0BRRS %ge".%ég Eden 0 0Pore &% otron

Options :
Gills
Soaen

97108327473, ¥

Lungs
97108327474, %
Tympanum

oS

97108327475. #



Integument

aoﬁr‘o;moef
97108327476, ¥

Question Number : 170 Question Id : 9710836876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The small intestine has three parts. The first part is called

98 (@R oD grrred Kol IS rris....

Options :
Duodenum
©o|Eureo
97108327477. ¢
Oesophagus
esFS oo
97108327478, ¥
Larynx

58 DB
97108327479. %

None

= X
97108327480, ¥ =% o

Question Number : 171 Question Id : 9710836877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Enterokinase helps in the conversion of

JoETTIT S (Bod TES® B Ir8)BE KFaHDdHE0s?
Options :
Lactose to Sucrose

£5% o8 HE%S
97108327481, % 5
Trypsinogen into trypsin
(ETRS 00l @S
97108327482, ¢

Pepsinogen into pepsin

%}&E’EE‘“ 2008 "a:r
97108327483, #

Proteins into polypeptide

5= 2 } -,
BER) ool &DDRG)
97108327484, %

Question Number : 172 Question Id : 9710836878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The product of glycolysis is
0E°02T @) ©oddmesin
[+ o o @



Options :
Pyruvate

253
97108327485. ¢

97108327486. #

NADH
DR @ & 0
97108327487, %

Acetyl coA

QBS coA
97108327488, ¥

Question Number : 173 Question Id : 9710836879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following occurs both in photosynthesis and respiration?
& (Bod TRE° DB Bleesy SoTrKBcdH 58k TRHBDE” EnthEod.
Options :
Glycolysis

o025
97108327489. #



Krebs cycle
208 Sechdn

L=

97108327490. ¢

Calvin cycle

ED)Pechsin
97108327491, %

Chemiosmosis

SDHEERD
97108327492 %

Question Number : 174 Question Id : 9710836880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The majority of carbon dioxide produced by the body is transported to lungs

8080 658 TR THSETTEE" 2% oo &8 St ThatHHod.
Options :
Dissolved 1n blood
SEos® LBADEH0H
97108327493, ¥ =

Attached to hemoglobin

SIRRDSE u8Tchnéod
97108327494, %



As bicarbonates

97108327495, ¢

As carbonates
SR

‘J

97108327496. ¥

Question Number : 175 Question Id : 9710836881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following Produces maximum ATP?
& (Bod =" D8 ATPS e ad)E S%os?
Options :
Krebs cycle

@5{\4 HecHH0
07108327497, %

Glycolysis
RS
97108327498. ¥

Fermentation

&eor (D€
97108327499. #



Oxidative Phosphorylation
ol yEses SRS
97108327500. ¢

Question Number : 176 Question Id : 9710836882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The site of respiration inside the lungs are
S BoB TES® DB “:BBBHY e TPHBD (HRESW

Options :

Alveoli

e Fred)
97108327501, ¢ -

Diaphragm

TR IeTE o0
97108327502, %

Bronchi

ool AN P e
97108327503, %

Bronchioles

TR
o)

97108327504, #



Question Number : 177 Question Id : 9710836883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Where 1n the cell most of the aerobic respiration takes place?
$eond® D (Fro85ns® DB°IE T KBad ahibE0s?

Options :
Mitochondria
S igete (Alovor
97108327505, ¢
Nucleus
Sol&¥o
97108327506. %
Ribosome
BE 8D
97108327507, %
Cytoplasm
Prad

97108327508. #

Question Number : 178 Question Id : 9710836884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In oxidative phosphorylation, one molecule of reduced FAD produces. how many ATP?
o888t PABTAT 7% FAD ) o8 o aR) ATPS af)8 Dinobd.

Options :
Zero
97108327509, % =
Two
B
97108327510, #
Four
TPenid
97108327511, #
Three
STy

97108327512. ¢

Question Number : 179 Question Id : 9710836885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Uricotelism 1s found in

585800 AYE® Xhnthod

Options :



Birds reptiles and insects
SHeo WoYaren b Siosren
97108327513, ¢
Frogs and toads
o0 obdio il
97108327514, #
Mammals and birds
A¥rmen S8 Hen
97108327515. ¥ = =
Fishes and fresh water protozoans

JHen 508050 HodlE (BrEtStey
97108327516, ¥

Question Number : 180 Question Id : 9710836886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Excretory waste of birds and reptiles are
SHhen Hobaks WEYare DILE Sregren
Options :
Urea

ovvalalovh!
97108327517. %



Uric acid and urea

CoeBE eshdn SHdcsn chrrdcH
97108327518. %

Uric acid
S8 e
97108327519. ¢ ol
Ammonia and uric acid
©eRGe B 0hrdE e

97108327520. ¢

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 181 Question Id : 9710836887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Main function of Henle’s loop 1s
1*@@55 Sogy 6
Options :
Conservation of urine
97108327521. ¢ =D MADEe
Filtration of blood

BESD Gook) SEPES
97108327522, %



Formation of urine

S|S0 DG D
97108327523, %

Passage of urine

Sooe (80 (H¥Seesin
97108327524, #

Question Number : 182 Question Id : 9710836888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Urea synthesis takes place in liver because
CHBAST D) STAHEINS® D0 JoEde —————
Options :
Enzyme arginase is present in liver only

©EID JOFD TODINE® oS

97108327525. ¢

Kidney is smaller than liver
o BDoESn TBhEn dom) YT aos
97108327526. *#
ADH is found in liver

=TohEnE® ADH a8 05%
97108327527. # T



Urea is present only in liver

KB THSNS S a8 0d
07108327528, # b

Question Number : 183 Question Id : 9710836889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

About 90% of kidney stones can pass out through urinary system by drinking
5t 90% Sar(EBotin® ooy S KR Troe Swded THtrdt SV ([EHSB

Options :
Sugar drinks

&ﬁ;&ﬁ e aiTren
97108327529, %

Juice
830
97108327530, #

Water

-

Q%
97108327531, ¢
Milk

e
07108327532, %

Question Number : 184 Question Id : 9710836890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which among the following is a structural and functional unit of the nervous system?
o8 SN0 Gy Aoee bAdy Eaird)E (Hareasin Hd&?
Options :

Neurons
Sreroes
97108327533, ¢ Y

Nephron
BFES

97108327534, #

Brain

97108327535. % BB

Spinal cord

553‘\] am&
97108327536. % e

Question Number : 185 Question Id : 9710836891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Alzheimer’s disease 1s associated with deficiency of
@é}ﬁ:&d Sy~ SH08° DomoKo XOA @otnod ————————

Options :



Dopamine
EE5DS
97108327537. #
Acetlycholine

RBEHOT
97108327538. ¢

Glutamic acid

88 walpsin
97108327539. ¥

Gamma aminobutyric acid

e oS — wwedE e
97108327540, %

Question Number : 186 Question Id : 9710836892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many types of peripheral nerves are present?
HBHAH Tthen AR Ssen?
Options :

97108327541, # 1

97108327542, ¢

97108327543, %



4
97108327544, %

Question Number : 187 Question Id : 9710836893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following proteins is not found in muscle fibres?
& (Bod PESes® 28 %ois b8t wortn?

Options :

Keratin

ZBoe&S
97108327545. ¢~ -

Actin

HEES
97108327546, %

Troponin
97108327547, %

Tropomyosin

(P FEDERDS

97108327548. #

Question Number : 188 Question Id : 9710836894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The DNA structure was investigated in the year
DNA Qoeeesin & H0058)8508° Sorg Sae?
Options :
97108327549, % 1943

1953
97108327550. ¥

963
97108327551, ¥

1973
97108327552. %

Question Number : 189 Question Id : 9710836895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Carbohydrates present in cell membrane are generally
oo &rmred® BoG T8 TG
Options :
Oligosaccharides

2 ORSEBHen
97108327553. ¢



Disachharides
ErEgses
97108327554, %

Monosaccharides

i T, WY :
97108327555, % S &% Broen
Polysaccharides

SFOFE Biben
97108327556. %

Question Number : 190 Question Id : 9710836896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who suggested that DNA composed of three nucleotide strands?

& (Bod 706" DNA Hitd $r28@rBE SoBHhos® DEBKER (HEFdoTE?

Options :
Maurice Wilkins
S80 536&5{3
97108327557, %
Rosalind Franklin

2“0 (SRS
97108327558. %



- Linus Pauling

= =
97108327559 ¢ S

James Watson

355‘3 méanﬁ
97108327560, #

Question Number : 191 Question Id : 9710836897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which kinds of forces stabilize the DNA structure?
DNA Qoo 8588 $hen 28%8osnteron?
Options :
Hydrophilic. covalent
TFE D8, $o@radad
97108327561. ¥
Hydrophobic. covalent
G5 P0E, $odresdod
97108327562. ¥
Hydrophobic. van der Waals

T(EDEE, moib =S
97108327563. ¥



Hydrophilic. van der Waals

2608, o8 =S

o

an

97108327564, #

Question Number : 192 Question Id : 9710836898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The protein responsible for muscular dystrophy. dystrophin, isa __ protein.
Yotiore 2oirds RPES, 8DEPDS & 5508 @%ES
Options :
Cross-linking

== &oloh
97108327565. ¥

Membrane-binding

(@S Bodoh
97108327566, ¢ NS E
Tethering

&E8on
97108327567, %

Severing

Qxbchdo
07108327568. #

Question Number : 193 Question Id : 9710836899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following gland which can be classified as an endocrine and an exocrine gland?
& Bod TES® DB JoG BT Hb8c IEXES (50s?

Options :

Thyroid

Foraw
97108327569. #

Thymus

B
97108327570. #

Pancreas

E5505m
97108327571. ¢

Pituitary

Deareood
97108327572. #

Question Number : 194 Question Id : 9710836900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The haploid set of human chromosomes consist of chromosomes

$Fapont 8T SrS B RrrHos® 59 K0A% (ETRrkSHen
Options :

22
97108327573, #



23
97108327574 ¢

24
97108327575. #

25
97108327576. ¥

Question Number : 195 Question Id : 9710836901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reannealing or renaturation of the DNA is the basis of the technique
3XB o0 Trr BeSOoR DNAS® B8 (Heeddd B85 -———-

Options :
Paper chromatography
208 B smesttd
97108327577. %
Ultraviolet spectroscopy
o&dodiirs ?\JM@E@E}
97108327578. *# G
Nucleic acid hybridization

SorfowE arRlE T@BRAS

97108327579. ¢



Gel electrophoresis

=5 ;}E@@%’iﬁ
97108327580. #

Question Number : 196 Question Id : 9710836902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of these is not an endocrine gland?
& (Bod TRE° DB 0B B Ko =K?
Options :
Salivary gland.
rozw(iod
97108327581. ¢
Testes.

a
AT-etanil -y
97108327582, # éef"

Pancreas.
E55050
97108327583 *
Parathyroid.

Fogorons
97108327584, %

Question Number : 197 Question Id : 9710836903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following was discovered by Chargaft’s experiment in 19507
TBrD (BRrres® 1950 $os8)8:ns® & (208 TS BN Liram.
Options :

Base composition

Sooees ’5:*&03
97108327585, ¥

Base stacking
5 F8oh
97108327586. ¥

Gene morphology

Eohn écﬁ?‘\}cﬁmm
97108327587, =

Chromosome morphology

=3 Qo=ycesino
97108327588, *

Question Number : 198 Question Id : 9710836904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the gland that is located at the base of the throat, just inferior to the laryngeal prominence
(Adam’s apple)
& (Bod =RE° DO o Gw¥) erdin, FBHdE [SSward (8 obd)

Options :



Pituitary.
2e0réad
97108327589. # v

Pineal gland.

$00%S (K08
97108327590. #

Hypothalamus.

-,

o el SN
97108327591, %

Thyroid

Forans
97108327592, ¥

Question Number : 199 Question Id : 9710836905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Systems biology is the study of

g B

Medo) DoTreE @rdhRNo——————
g ot ]

Note: For this question, discrepancy 1s found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :



Proteins

EFESen
97108327593

MicroRNAs

SERNA ex
97108327594,

Carbohydrates

- =, £
=8 i @een
97108327595.
Lipids
DHGen
97108327596.

Question Number : 200 Question Id : 9710836906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In some invertebrates, the skeleton is present on the outside of the body is called
Q) wETBTes’, eRdondin F085n Tl o SRPD TR

[= S ¥

Options :
Endo-collagen

Do&FTerBS
97108327597. ¥



Exoskeleton
Do

LTI ®

o

o2y

97108327598. ¢

Endoskeleton

@Déf@%ﬁoﬁééw
97108327599, #

e

Exo-collagen

RS
97108327600. *

Question Number : 201 Question Id : 9710836907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following enzymes are used in the process of transcription?
& (o8 &8 D JoBHen EFAPRS DLES” SBERHHER?
Options :
DNA polymerases

DNA £rd%Sen
97108327601, %

RNA polymerases

RNA 9388w
97108327602, ¥



DNA helicase

DNA =925
97108327603. *

DNA topoisomerase

DNA &P8radimoden
97108327604, #

Question Number : 202 Question Id : 9710836908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Guanine and adenine are
rﬁaﬁﬁ o8 8IS —————————-
Options :
Purines
@n;éﬁw
97108327605. ¢
Pyrimidines
DEDGETen
97108327606. %
Nucleosides

ﬁ:ﬂéﬁcﬁﬁ?&tﬁu
97108327607. %



Gangliosides

gpyelaialovepilatos
97108327608, *

Question Number : 203 Question Id : 9710836909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process by which a single gene can code for multiple proteins is called

2% a3kingd oo [@PESes B8 o BE8R DPotrd?

Options :
Transcription
ErSERS
97108327609. ¢
Transformation
2BHEH
97108327610. %
Sequencing
SEECT

97108327611, #

Alternative splicing

(BomEmcdh doh

S

97108327612. ¥



Question Number : 204 Question Id : 9710836910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This is an example of bilaterally symmetrical and triploblastic animal

&2 (Bod S BrarlY R B ([B8E 20&HH
St L 5| —t

Options :
Cnidarians
97108327613, DBk
Sponges
nos¥en

97108327614, %

Ctenophores
&8

97108327615. #

Round worms

S DEvies
97108327616, ¢

Question Number : 205 Question Id : 9710836911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following contains notochord in the embryonic stage?
& [Bod 88 S boUEIE® L0N aB?

Options :



Non-chordates

97108327617, % & SRS a&l

Vertebrates

SEZSzeen
97108327618 %

All chordates

@& SROLD
97108327619. ¢ B ST

Some of the chordates

97108327620. *

Question Number : 206 Question Id : 9710836912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The greatest number of described species is found in which of the following groups of
organisms?

& (208 TS o8 28 czedoen 00 &a®) £He Dorsten DR?
Options :
Phylum Arthropoda

Sgo |56
97108327621, ¢ @



Phylum Mollusca
T=e370 %@D@"Eﬁ:
97108327622. # L
Kingdom Fungi
S%0 Fwena)
97108327623. #
Phylum Chordata

B0 SO
97108327624, ¥  © s

Question Number : 207 Question Id : 9710836913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Segmented earthworms belong to the
DEB0SnlR TdErSnen HVEE Dhmon ———-

Options :
Phylum Platyhelminthes

S8 sLETFDBD
97108327625. ¥

Phylum Annelida
Vo @O

97108327626. ¢  ©



Phylum Polychaetes
97108327627 % 93O FOlere

None

5 -
97108327628, ¥ ¥ S e

Question Number : 208 Question Id : 9710836914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is not the characteristic of a population?
& (Bod TES° wror ¥ e¥esn 5=tH?
Options :

Natality

NeFDE
97108327629. %

Mortality

25808
97108327630. #

Sex ratio
DoKRNS
97108327631, %
Stratification

pelelstetsy
97108327632. ¥



Question Number : 209 Question Id : 9710836915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the larva which is present only in members of gastropoda :
RS oromd HBoHE®

Options :
Trochophore
Coaxoas)
97108327633, ¥
Veliger
20xb
97108327634, ¢
Glochidium
OB
97108327635, ¥
Muller’s
Sooeb

97108327636. #

Question Number : 210 Question Id : 9710836916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The natural place of an organism or community is known as
Seres WY LD TwEgesio S Sogwo K otrtd?
Options :
Niche
LSS0
97108327637. #
Biome

20
97108327638, %

Habitat

eS5PPeD
97108327639, ¢

Habit
BEITTED
97108327640. #

Question Number : 211 Question Id : 9710836917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Oxygen and hemoglobin bind in a reversible manner to form
o8S 8K TRFLAS 85 mS HEES® mofosnd HIT DGR

Options :



Carboxyhemoglobin
= & &
SN

-

97108327641, #

BPG
A=Y

i

97108327642, ¥

Methoglobin

DHEFTHS
97108327643, #

Oxyhemoglobin

oly &rIrEDT
97108327644, ¥ '

Question Number : 212 Question Id : 9710836918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This 1s not a function of insulin
ST DB & (Bod RSB ==
Options :
Decreasing glycogenolysis

OS28BS Sholessn
97108327645, %



Lipogenesis

et I
=0

3]
97108327646. ¥ =

Gluconeogenesis

KEEPRErERD
97108327647. ¢ ™

Glycogenesis

BE*RRRD
97108327648, #

Question Number : 213 Question Id : 9710836919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The branch of science deals with blood. blood forming tissues and its disorders is Called.

& (Bod TEER )T, 8w, Bho VBTG Leoerosn Ak & Gnd) HifiEess BenHEod.

Options :
Hemopoiesis
EraoeEPonRn
97108327649. *
Cardiovascular system

SR T S0

e/
97108327650. #



Plasmology

P

)

97108327651. #

. Hematology

2ot
97108327652. ¥ -

Question Number : 214 Question Id : 9710836920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the site of hemopoiesis in an embryo?

SRrRPondD 2T DoKEHS® H6?

Options :
Yolk sac
DO TE
97108327653. ¢
Liver
=BaHE0
97108327654, %
Thymus
B

97108327655. #



Spleen
P50

3

97108327656. #

Question Number : 215 Question Id : 9710836921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which type of anemia is responsible for the disease thalassemia?

& (Bob TRE° O BEDE AWAT® 5708 ST =Beasin

Options :

Aplastic anemia

o508 ©Qocse

97108327657 % =
Hemolytic anemia

SrrD@E ©QQnae
97108327658, ¥

Hemorrhagic anemia
B 55m @SS
97108327659. *#
Iron deficiency anemia
= &8 4
07108327660, % 20N E°00 HoR ©DTADe

Question Number : 216 Question Id : 9710836922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The process which begins after the fertilization is known as
Hobdsn SHhard & (PBD [Br8oodos.

Options :
. Cleavage

DRER
97108327661. ¢

Spermiogenesis
R)BBERIRT
97108327662 %
-Organogenesis
eSFRIDD
97108327663. %
Embryogenesis

o DTRILT
97108327664, *

Question Number : 217 Question Id : 9710836923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following fertilization category 1s found in mammals?

& (80BE™R L5red® Pobdsen $o EBon?

Options :



Ovoviviparous

2T BOFED

97108327665. ¥
Oviparous

2. DarsH
97108327666. *

Viviparous
DOTFBR
97108327667. ¥

Segmentation
D&
97108327668. #

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 218 Question Id : 9710836924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the type of eggs which do not have any protective covers?
©oBSNE Y Soren &2 (Bod TS 308 SEce $isin Eain?
Options :
. Indeterminate

o8 Sorr
97108327669. %



Cleidoic eggs

834E wotmen
97108327670, %

Determinate
Q& sSorr

[

97108327671. #

Noncleidoic eggs

TRETREE womren
97108327672 ¥

Question Number : 219 Question Id : 9710836925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following organism has cleidoic eggs?
& Bod 2Hod® ERrEE vorren BOS° Y¥nithmron?

Options :
Reptiles
ﬁé?\’@_&w
97108327673. ¢
Fishes
Sen

97108327674, ¥



Amphibians
achdden
97108327675. #
Annelids

(SEAE M ocad
97108327676. %

Question Number : 220 Question Id : 9710836926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the climate pattern in areas of limited size or immediate surroundings of plant and
animal?

58S HBSTmo ToE 533“5; So8cin oo S¥s 58%roE® TrErdsn ¥ Od.
Options :

Mixed climate

B TrzrNdeeo

97108327677. ¥

Macroclimate
vl pvetacle!
97108327678, %
Microclimate

DS rmedteso
97108327679. ¥



Segmented climate

=

R0t nlR im0
97108327680. %

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 221 Question Id : 9710836927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Actinomycin D inhibits
Options :

DNA synthesis
97108327681, ¥

97108327652, * Protein synthesis

BIOCHEMISTRY

97108388
4

Online
Optional
60

60

60

Yes

1
971083102
Yes



Cell wall synthesis
97108327683. ¥

Protein synthesis and Cell wall synthesis
97108327684 %

Question Number : 222 Question Id : 9710836928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Site of oxidative phosphorylation in cell
Options :

Ribosomes
97108327685. %

97108327686, % Nucleus

Mitochondria
97108327687, ¥

Cell membrane
97108327688 %

Question Number : 223 Question Id : 9710836929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Krebs cycle, FAD is reduced in which of the following reaction

Options :

Isocitrate to oxaloacetate
97108327689, ¥



Succinyl CoA to Succinate
97108327690. *

Fumarate to malate
97108327691. #

Succinate to fumarate
97108327692, ¢

Question Number : 224 Question Id : 9710836930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the biochemical pathway occurs in Peroxisomes
Options :
07108327603, % Calvin cycle

Glvoxvlate cvcle
97108327694, & ¢ 7 4

Glvcolvsis
97108327695, % R

Bacterial photosynthesis
97108327696. ¥

Question Number : 225 Question Id : 9710836931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Enzymes are polymers of
Options :

97108327697, % F1€X0S€ sugar



Amino acids
97108327698, ¢

97108327699, * Fatty acids

Inorganic phosphate
97108327700. ¥

Question Number : 226 Question Id : 9710836932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beriberi is caused by the deficiency of
Options :
Vitamin Bl
97108327701. ¥

97108327702, % VY ltamin B2

97108327703, % ¥ Ltamin B6

97108327704, % Vitamn B12

Question Number : 227 Question Id : 9710836933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Islets of Langerhans are found in

Options :



Anterior Pituitary
97108327705. ¥

97108327706, * Kldney Cortex

Spleen
97108327707 %

97108327708, v [ ANCTEAS

Question Number : 228 Question Id : 9710836934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Acromegaly results due to excessive release of
Options :

Thyroxine

97108327709, % "

Growth hormone
97108327710, ¢

Insulin
97108327711, %

Glucagon
97108327712. #

Question Number : 229 Question Id : 9710836935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Most abundant biomolecule on the earth?



Options :

Lipids
97108327713, % P

Proteins
97108327714, #

97108327715. ¢ Carbohydrates

Nucleic acids
97108327716. #

Question Number : 230 Question Id : 9710836936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Phosphodiester bond is present in
Options :

Nucleic acids in a nucleotide
97108327717, ¢

97108327718, % Monosaccharides in a polysaccharide

Amino acids in a polypeptide
97108327719. ¥

07108327700, % LAy acids in a triglyceride

Question Number : 231 Question Id : 9710836937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Rancidity of lipids are due to the
Options :

97108327721, % Reduction of fatty acids

Hydrogenation of unsaturated fatty acids
97108327722, % =

Dehydrogenation of saturated fatty acids
97108327723, ¥

97108327724, « OXidation of fatty acids

Question Number : 232 Question Id : 9710836938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true?
Options :

Sugar component of a nucleotide is ribose
97108327725, %

Sugar component of a nucleotide is deoxyribose
97108327726. ¥

07108327727, ¥ The bases in nucleotides are attached to a pentose sugar moiety by a glycosidic linkage

The sugar molecule of the nucleotide is in L-configuration
97108327728, *

Question Number : 233 Question Id : 9710836939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Fungi has which of the following sterol in its membrane
Options :

Ercosterol
97108327729, ¢ 18

Stigmasterol
97108327730. %

Sitosterol
97108327731, %

Campesterol
97108327732. ¥

Question Number : 234 Question Id : 9710836940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which pair 1s an example of Epimers
Options :
Glucose and Ribose

97108327733. #

Glucose and Galactose
97108327734, ¢

Galactose. fructose
97108327735, %

Glucose and xylose
97108327736. ¥



Question Number : 235 Question Id : 9710836941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an imino acid
Options :
97108327737, % Alanine

Glycine
97108327738 #

Proline
97108327739. ¢

Serine
97108327740, %

Question Number : 236 Question Id : 9710836942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The organelle known as a primary packaging area the cell
Options :

97108327741, % Vvacuole

Plastids
97108327742, %

07108327743, % Mitochondria



Golgi apparatus
97108327744. ¢

Question Number : 237 Question Id : 9710836943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which cell organelle does not have DNA
Options :

Nucleus
97108327745, %

Mitochondria
97108327746. #

Lysosomes
97108327747. ¥

Chloroplast
97108327748. ¥

Question Number : 238 Question Id : 9710836944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The fluidity of the plasma membrane increases with

Options :

Increase in unsaturated fatty acids in the membrane
97108327749, ¢ !

Increase in saturated fatty acids in the membrane
97108327750. %



Increase in glycolipid content in the membrane
97108327751. #

0710832775, % 1ncrease in phospholipid content in the membrane

Question Number : 239 Question Id : 9710836945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Power house of cell 1s
Options :

Cell wall
97108327753, %

Mitochondria
97108327754, ¢

Ribosomes
97108327755, #

Nucleus
97108327756. %

Question Number : 240 Question Id : 9710836946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The transport system in the mitochondrial membrane that exchanges ADP and ATP is called

Options :

Antiporter
97108327757. ¥



Svmporter
97108327758, % ymy

Uniporter
97108327759. ¥

Active Uniporter
97108327760. %

Question Number : 241 Question Id : 9710836947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pale yellow color of golden rice is due to
Options :

Chlorophyll a

97108327761. %

Beta-carotene
97108327762. ¢

Chlorophyll t
07108327763, % - CPIYLD

Phycobilins
97108327764. ¥

Question Number : 242 Question Id : 9710836948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The function of the centrosome 1s

Options :



Formation of spindle fibres
97108327765. ¥

Osmoregulation
97108327766. ¥

Secretion
97108327767, %

Protein synthesis
97108327768. ¥

Question Number : 243 Question Id : 9710836949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which disease is diagnosed by amniocentesis method?

Options :

Down's syndrome
97108327769. #

Cystic Fibrosis
97108327770. ¥

Sickle cell anaemia
97108327771, %

97108327772. ¢ All

Question Number : 244 Question Id : 9710836950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Electron Microscope was discovered by

Options :

07108327773, % Erof Fritz

Janssen and Hans
97108327774, #

Knoll and Ruska
97108327775. ¥

None
97108327776. %

Question Number : 245 Question Id : 9710836951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Termination of replication in prokaryotes is triggered by
Options :

DNA polymerase
97108327777. %

Helicase
97108327778, *#

97108327779. ¥ SSB

Tus protein
97108327780. ¢ ¥



Question Number : 246 Question Id : 9710836952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During DNA replication the RNA primer is removed from the Okazaki fragment by
Options :

07108327781 v DINVA polymerase I

DNA polymerase II
97108327782. ¥

DNA polymerase III
97108327783. #

RNA polymerase
97108327784, ¥

Question Number : 247 Question Id : 9710836953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the mutation has a negligible effect on the function of a gene, it is known as a

Options :

Silent mutation
97108327785, ¢

Frame shift mutation
97108327786. %

Substitution mutation
97108327787, %



97108327788, % LSertion mutation

Question Number : 248 Question Id : 9710836954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Largest immunoglobulin is
Options :
97108327789, % 1A

97108327790. % I‘-EG

Igl
97108327791. ¢ =

IgD
97108327792. ¥

Question Number : 249 Question Id : 9710836955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beer Lambert’s law gives the relation between

Options :

Reflected radiation and concentration
97108327793, %

Scattered radiation and concentration
97108327794, %

Absorption and concentration
97108327795. ¥



Absorption and reflected radiation
97108327796. %

Question Number : 250 Question Id : 9710836956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Salvage pathway is utilized for the synthesis of

Options :

Amino acid
97108327797, #

Carbohydrate
97108327798, ¥

Nucleotides
97108327799. ¢

Fatty acid
97108327800, % 0 °

Question Number : 251 Question Id : 9710836957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In glycolysis the cleavage of Fructose 1, 6-biophosphate yields
Options :

Two aldoses
97108327801. %

Two ketoses
97108327802, %



An aldose and a ketose
97108327803, ¢

Onlv a ketose
97108327804, % .

Question Number : 252 Question Id : 9710836958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Familial hypercholesterolemia is due to the defect in

Options :

Transport of cholesterol from extrahepatic tissue to the liver
97108327805. ¥

Impairment of cholesterol degradative pathway
97108327806. % ?

07108327807, ¥ Impairment of uptake of cholesterol by tissues

07108327308, % pairment of HDL metabolism due to deficiency of Apo-A

Question Number : 253 Question Id : 9710836959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true regarding Photosystems
Options :

Photosystems are arrangements of chlorophyll and other pigments packed into thylakoids
97108327809. ¥



Manv Prokarvotes have only one photosystem.
97108327810, ¥ " AnY ALy y P b

97108327811, ¥

Photosystems are arrangements of chlorophyll and other pigments packed into thylakoids and

Many Prokaryotes have only one photosystem. are correct.

97108327812. #

Only Photosystems are arrangements of chlorophyll and other pigments packed into thylakoids is correct

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 254 Question Id : 9710836960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who coined the word enzyme?
Options :

Wilhelm Kuhne
97108327813 ¢

Alfred Russel
97108327814, %

Robert Koch
97108327815, #

Rosalind Franklin
97108327816. %



Question Number : 255 Question Id : 9710836961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a fat-soluble vitamin
Options :

97108327817, % Vitamin B

Vitamin C
97108327818, %

Vitamin B2
97108327819, %

Vitamin K
97108327820. ¥

Question Number : 256 Question Id : 9710836962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The factor responsible for blindness in children
Options :

Vitamin B12
97108327821, %

Vitamin Bl
97108327822, %

Vitamin D
97108327823, #

07108327824, v ¥ 11AIIN A



Question Number : 257 Question Id : 9710836963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1s not a trace element

Options :
Sodium
97108327825, %

Boron
97108327826. %

Carbon
97108327827. ¢

Zinc
97108327828, #

Question Number : 258 Question Id : 9710836964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Action of parathormone in the human body
Options :

Decreases blood sodium level
97108327829 %

Increases blood sodium level
97108327830. %

Decreases blood calcium level
97108327831, ¢

07108327832, ¥ Increases blood calcium level



Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 259 Question Id : 9710836965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Find the INCORRECT statement about the biological functions of lipids

Options :

07108327833, % Storage form of metabolic fuel

07108327834, % FlAVe ad protective function in bacteria, plant, and insects

The structural component of membranes
97108327835. ¥

Exhibit increased catalytic activity
97108327836. ¢ - ;

Question Number : 260 Question Id : 9710836966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the composition of nucleoside
Options :

07108307837 % A SUZAr +a phosphate

97108327838, ¥ - base +a sugar

97108327830, % @ Dase + a phosphate



07108327840, % 2 0aS€ T a sugar + phosphate

Question Number : 261 Question Id : 9710836967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The secretions from which of these glands differs between males and females?
Options :

97108327841, Gonadal

97108307842, % Parathyroid

07108327843, » ‘idrenal

Pancreas
97108327844, #

Question Number : 262 Question Id : 9710836968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Calvin cycle, 1 molecule of glucose is produced from

Options :

07108327845, ® 0C021 30ATP + 12NADPH

6CO;+ 18ATP + 12ZNADPH
97108327846. ¥

97108327847 ® 0CO2+ 18ATP + 30NADPH



97108327348, 8 0CO2+ 12ZATP

Question Number : 263 Question Id : 9710836969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which form does the product of glycolysis enter the Krebs cycle?
Options :

Acetyl CoA
97108327849, ¥

Pyruvate
97108327850. *

97108327851, # NADH

Glucose
97108327852, %

Question Number : 264 Question Id : 9710836970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The principal replication enzyme in E. coli
Options :

DNA polymerase I
97108327853, ¥ ’

DNA polymerase 1T
97108327854. %



DNA polymerase III
97108327855. ¥

97108327856, * INONE

Question Number : 265 Question Id : 9710836971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The whooping cough is caused by the
Options :

Bordetella pertussis
97108327857. ¢

Bordetella parapertussis
97108327858. #

97108327850 % Bordetella bronchi septica

97108327860, * INONE

Question Number : 266 Question Id : 9710836972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is genetically modified crop
Options :
Bt-cotton
97108327861. %

97108327862, % Bt-brinjal



97108327863. % Golden rice

All
97108327864, ¥

Question Number : 267 Question Id : 9710836973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DNA replication is
Options :

Conservative
97108327865. %

07108327866, % Conservative and discontinuous

Dispersive
97108327867. ¥

Semi-conservative
97108327868. ¢

Question Number : 268 Question Id : 9710836974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Formula for pH calculation
Options :

+
97108327869. % log10[H+]

-logl O[H+]
97108327870. ¥



log2[H+
97108327871. ¥ =~ < [FE+]

i )
97108327872, % ~10g2[HH]

Question Number : 269 Question Id : 9710836975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All prokaryotes are surrounded by a cell wall except
Options :

Mycoplasma

97108327873. ¢ 7

97108327874, % | Spirochaetes

Actinomycetes
97108327875. ¥

Methanogens
97108327876. #

Question Number : 270 Question Id : 9710836976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Most abundant immunoglobulin in plasma is

Options :

]
97108327877. % I:A



IeGG

L

97108327878. ¢

o/
97108327879. ¥ I‘—‘“}‘I

IgD
97108327880. ¥

Question Number : 271 Question Id : 9710836977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Human immunodeficiency virus destroys which cells of the human body

Options :

97108327881. ¥ ~ cells

Helper T cells
97108327882, ¢ P

07108327883, % B cells

Plasma cells
97108327884, #

Question Number : 272 Question Id : 9710836978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[soelectric pH of an amino acid is that pH at which it has a
Options :

97108327885, % Positive charge



07108327586, Negative charge

No net charge
97108327887, ¢ g

' None of these
97108327888, ¥

Question Number : 273 Question Id : 9710836979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ethanol is oxidized to acetaldehyde in the liver cell cytoplasm by
Options :

Alcohol dehydrogenase
97108327889. ¥

Alcohol carboxylase
97108327890. ¥

97108327891 % Pyruvate carboxylase

Pyruvate kinase
97108327892. #

Question Number : 274 Question Id : 9710836980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the cellular process is known as cell drinking?



Options :
97108327893, v FIIOCYTOSIS

Phagocytosis
97108327894, ¥

Clathrin-mediated endocytosis
97108327895. %

97108327896, % Caveolae-mediated endocytosis

Question Number : 275 Question Id : 9710836981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The amount of energy released from one ATP is
Options :

76 kcal
97108327897, # ‘

7.3 keal
97108327898, ¥

97108327899. # 760 keal

97108327900, ® 1000 kcal

Question Number : 276 Question Id : 9710836982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Maximum photosynthesis occurs in presence of
Options :

Blue light
97108327901, % Z

Red light
97108327902. ¥

White light
97108327903. ¥

Green light
97108327904. %

Question Number : 277 Question Id : 9710836983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inactive form of enzymes which are not bound to their cofactors are called
Options :

Apoenzymes
97108327905. ¥

Coenzymes
97108327906. *

Enzyme inhibitors
97108327907. ¥

Holoenzymes
97108327908. #



Question Number : 278 Question Id : 9710836984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Glucagon hormone is secreted by the

Options :

07108327000, % LHyroid gland

Adrenal gland
97108327910. ¥

Pituitary gland
97108327911, # ?

Pancreas
97108327912. ¢

Question Number : 279 Question Id : 9710836985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The degree of unsaturation of lipids can be measured as

Options :

Iodine number
97108327913, ¢

Saponification number
97108327914, ¥

Reichert Meissel number
97108327915, %



Polenske number
97108327916.

Question Number : 280 Question Id : 9710836986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the major storage form of carbohydrates in animals

Options :
97108327017, % Cellulose

Chitin
97108327918. #

Glycogen
97108327919. ¢

Starch
97108327920. #

GENETICS

Section Id : 97108389
Section Number : 5
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
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Sub-Section Id : 971083103



Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 9710836987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many different types of F1 gametes would be expected from the cross

AABBCC x aabbcc
Options :

97108327921, % Two types

Four types
97108327922. # YP

97108327923, % OIX Types

Eight tvpes
97108327924, v ot P

Question Number : 282 Question Id : 9710836988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A plant showing the characteristics Round leaves (R) are dominant to pointed leaves
(r) White flowers (W) are dominant to pink flowers (w) and the plants heterozygous
for both traits are crossed. The probability of obtaining a plant with pointed leaves
and pink flowers is

Options :

1/16
97108327925. ¢



1/4
97108327926. %

97108327927, ® >/ 16

97108327928, % /16

Question Number : 283 Question Id : 9710836989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Chromosome theory of heredity was proposed by
Options :

07108327020, % Gregor Johann Mendel

97108327930. # T.H.I\“IDI'E._’HH

97108327931 * Barbara McClintock

97108327932. ¢ Walter S.Sutton

Question Number : 284 Question Id : 9710836990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In fruit flies. white eyes are produced by a dominant X-linked mutation and wild-type
being red-eyed. If a white-eyed male 1s mated with a red-eyed female. the phenotype
of resulting offspring 1s

Options :



half the males will have white eves
97108327933, # ?

97108327934, ¥ all the males will have white eyes

07108327935, w Aall the females will have white eyes

97108327936, % all offspring will have red eyes

Question Number : 285 Question Id : 9710836991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A flower species is having two colors purple or white and purple color 1s dominant to
white. The trait is determined by complete dominance. A test cross shows that a
random purple flower is homozygous dominant for trait. What flower type is crossed

with wild purple flower to determine this result?
Options :

white flower
97108327937. ¢

97108327938, ¥ heterozygous flower

homozygous purple flower
97108327939, % ygous purp

97108327940, % 1ONE



Question Number : 286 Question Id : 9710836992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cystic fibrosis i1s an autosomal recessive disease and assuming Hardy-Weinberg
equilibrium in a population of one hundred individuals, twenty-five have the disease
and the percent of carriers for cystic fibrosis in population are

Options :

50,
97108327941, % 75%

5 0
97108327942, # 25 %

0
97108327943, « 50%

Wy
97108327944, % 80%

Question Number : 287 Question Id : 9710836993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gene conversion
Options :

Modification of a gene due to mutation
97108327945, %

07108327046, % Restoration of normal gene from a mutated gene

Copying of the sequence of an allele from the homologous chromosome during

07108327047  LOMologous recombination to repair double stranded DNA break



07108327048, % Replacing one gene with another gene by genetic engineering

Question Number : 288 Question Id : 9710836994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The RNA molecule that transtfers amino acids to ribosomes are
Options :

97108327949. # L A

97108327950, # IRINA

97108327951, % SNRNA

97108327952. ¢ RNA

Question Number : 289 Question Id : 9710836995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Approximate number of protein coding genes m human are

Options :

6000
97108327953 ¥

97108327954, ® 1-20.000

97108327955 ¢ 22-000 - 25,000



97108327956, * 40.000

Question Number : 290 Question Id : 9710836996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of origin of replication in bacterial chromosomes is
Options :

97108327957. # Two

97108327958, % Mamy

97108327959, v ONE

97108327960, % Lhree

Question Number : 291 Question Id : 9710836997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Eukaryotic organisms are able to manage with fewer genes when compared to
prokaryotes because
Options :

07108327961, % Cannot code for more genes because of the smaller genome size

07108327962, % Eukaryotic genes are interrupted by mtrons

07108327963, ¥ Alternate splicing can produce multiple transcripts from each gene



07108327964 % 1€y do not need more genes

Question Number : 292 Question Id : 9710836998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wobble hypothesis deals with
Options :

07108327065 % Codon bias

Codon redundancy
97108327966, ¢ 4

Codon usage
97108327967. %

Anticodons
97108327968,

Question Number : 293 Question Id : 9710836999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a post transcriptional regulation of gene expression
Options :

07108327060« Methylation

97108327970, % RNA Splicing

97108327971, ®* HMRINA



RNA editing
97108327972. ¥ =

Question Number : 294 Question Id : 9710837000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One gene one polypeptide theory is not valid anymore: pick up the right sentence
Options :

All genes in living organisms produce protein

97108327973. ¥ '

o Most eukaryotic genes produce multiple transcripts through alternate splicing
97108327974, ¢ : - - -

Each protein coding gene produces a single polypeptide
97108327975 %

07108327976, « Most prokaryotic genes produce multiple transcripts

Question Number : 295 Question Id : 9710837001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following vectors hold longest DNA insert
Options :
97108327977 % Plasmid vector

97108327978« DAC vector



97108327979, % Phage vector

97108327980, % Cosmud vector

Question Number : 296 Question Id : 9710837002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following enzyme 1s used for dephosphorylation of DNA

Options :

Ligase
97108327981, % 18

97108327982, % Exonuclease

Phosphatase
97108327983, ¢ P

97108327984. # Kinase

Question Number : 297 Question Id : 9710837003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following bacteria is used for genetic engineering of plants
Options :

Rhizobium legumimosarum
97108327985. #

Asgrobacterium tumefaciens
97108327986. ¢ ~



07108327037 % Pseudomonas putida

97108327988, % Bacillus subtilis

Question Number : 298 Question Id : 9710837004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The molecular markers used practically now for plant breeding are
Options :

RFLP markers
97108327989. %

RAPD Markers
97108327990, ¥

SSR Markers
97108327991, ¢

07108327997, % AFLP Markers

Question Number : 299 Question Id : 9710837005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following bacteria is used as biofertilizer
Options :

07108327993, % Agrobacterium

Pseudomonas
97108327994, ¥



Azospirillum
97108327995, ¢ P

97108327996, % Bacillus

Question Number : 300 Question Id : 9710837006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Griffith's experiment
Options :

R strain bacteria killed the mice
97108327997. %

07108327998, ¥ S strain bacteria killed the mice

07108327990, » Heat-killed S strain bacteria killed the mice

A nuxture of heat-killed S strain bacteria and R strain bacteria failed to kill the

97108328000, * 1ICE

Question Number : 301 Question Id : 9710837007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following technique the bands are not distributed along the length of

the whole chromosome?
Options :

T- e
07108328001 % O-danding

-bandin
97108328002, % Q-bz g



R-banding
97108328003, ¥ =

C-banding
97108328004. ¥

Question Number : 302 Question Id : 9710837008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The RNA that regulates translation of mRNA 1is
Options :
97108328005, % SIRNA

97108328006, * RINA

97108328007, v MHRINA

IRNA
97108328008. ¥

Question Number : 303 Question Id : 9710837009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mutations affecting the nutritional properties of organisms are called
Options :

97108328009 % [ethal mutants

Auxotrophic mutants
97108328010. ¢



97108328011 % Insertion mutants

97108308012, % Null mutants

Question Number : 304 Question Id : 9710837010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a sex linked disorder?
Options :

07108325013 « Hemophilia

07108328014 % Color blindness

Sickle cell anenmua
97108328015, ¥

07108328016, % FUNTEr syndrome

Question Number : 305 Question Id : 9710837011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What 1s the correct sequence of events in Southern blotting?
Options :
Separation of DNA fragments by electrophoresis followed by hybridization with a

07108328017, % labelled probe sequence and then transfer to a membrane



Separation of DNA fragments by electrophoresis followed by transfer to a

membrane and then hybridization with a labelled probe sequence
97108328018. ¥

Hybridization of DNA fragments with a labelled probe sequence followed by

07108328010, % separation by electrophoresis and then transfer to a membrane

Transfer of DNA fragments to a membrane followed by separation by

07108328020, % electrophoresis and then hybridization with a labelled probe sequence

Question Number : 306 Question Id : 9710837012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a protein sequence database

Options :
Swissprot
97108328021. ¢ P

97108328022, * Genbank

97108328023. # EMBL

97108328024, % DDBIJ

Question Number : 307 Question Id : 9710837013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process of reclamation of polluted environment using living organisms is called



Options :
07108328025, % Biological oxidation

Bioremediation
97108328026. ¥

97108328027, % Biological control

97108328028, ¥ Biodegradation

Question Number : 308 Question Id : 9710837014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Regarding the /ac operon. if lactose is present. which of the following occurs?
Options :

Lactose binds to the operator preventing the promoter from attracting RNA
97108328020 % Ppolymerase and preventing transcription

Lactose bind to RNA polymerase, which then binds to the promoter and

transcribes the needed genes
97108328030. ¥

Lactose binds to the repressor. which does not bind to the operator and RNA
97108308031 v Polymerase transcribes the needed genes

Lactose binds to the operon. which attracts RNA polymerase. then transcription

07108308032, % Of the needed genes occurs



Question Number : 309 Question Id : 9710837015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In base excision repair the lesion s removed by

Options :

DNA glycosylase
97108328033, ¢

97108328034, ¥ DNA polymerase

97108328035, % LNIEgrase

97108328036, % Excisionase

Question Number : 310 Question Id : 9710837016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a nucleic acid. the bases are always attached to the carbon of the sugar
Options :

ﬂ;
97108328037. # ~

97108328038. # 4

Tad

97108328039. #

[

97108328040. ¢

Question Number : 311 Question Id : 9710837017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Evolutionary relationship 1s graphically represented as a
Options :

97108328041 % Evolutionary graph

Phylogenetic tree
97108328042, ¢ .

Multiple sequence alignment
97108328043, * -

Sequence Profile
97108328044, %

Question Number : 312 Question Id : 9710837018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DNA is the only genetic material that stores information in true living organisms: pick
up the right sentence

Options :

Errors occurring in protein are corrected

97108328045, % <

07108328046, v DINA can replicate and make a copy of itself

07108328047 % X COPY of RNA 1s made using RNA as a template

07108378048, % RINA i1s the genetic material transferred to next generation through gametes



Question Number : 313 Question Id : 9710837019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following events takes place during diplotene stage of prophase-1 of
me10sis?
Options :

Compaction of chromosomes
97108328049, %

07108328050, % Formation of synaptonemal complexes

97108328051 % Formation of recombination nodules

Dissolution of synaptonemal complexes
97108328052. ¥ ’

Question Number : 314 Question Id : 9710837020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Student's t test 1s

Options :
97108328053, % nonparametric test

97108328054, ¥ parametric test

97108328055, % LCSt for comparing variances

test for comparing averages
97108328056. * i i



Question Number : 315 Question Id : 9710837021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first recombinant antigen vaccine approved for human use 1s
Options :

, Hepatitis B vaccine
97108328057 ¥

97108328058, % D vaccine

07108328050, * ¥ Al vaccine

97108328060. % DPT vaccine

Question Number : 316 Question Id : 9710837022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a transition type of mutation

Options :

07108308061, ® OC Teplaced by TA

07108308062, % C G replaced by GC

07108325063, * A1 replaced by CG

07108308064, ¢ 11 replaced by GC



Question Number : 317 Question Id : 9710837023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mutation that changes a codon specifying an amino acid to a stop codon within
genes 1s known as

Options :

07108328065, % Missense mutation

AT . . g
97108328066 ¥ Nonsense mutation

Suppressor mutation
97108328067. *

97108328068, % 1NSErtion mutant

Question Number : 318 Question Id : 9710837024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mechanism of removal of intron sequences from the pre-mRNA is called
Options :

97108328069, % Transcription

97108328070. ¥ S]J]_I‘C]llg

o
97108328071. # CH]JIII.:.

97108328072, % Termination



Question Number : 319 Question Id : 9710837025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The amino acids for protein synthesis is activated by the enzyme

Options :

97108328073. % RNA polymerase IT

, Aminoacyl-tRNA synthetase
97108328074. ¥ .

97108328075, * RINA guanine-N7 methyltransferases

RNA guanylyltransferase
97108328076. ¥ = g

Question Number : 320 Question Id : 9710837026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following process. the bacteriophage particles are transmitted through
lysis of cell?
Options :

97108328077 ¢ LYUC C}FCIE

T o
97108328078, ® LYSOZeNY

97108328079, ¥ Replication

97108328080, T]'HIIS]E]HO]I



Question Number : 321 Question Id : 9710837027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Genetic drift 1s defined as gene frequencies
Options :
67108328081, % changing over time because of random effects in large population size

97108328082, v Changing over time because of random effects due to a small population size

remaining same over time because of random effects due to a small population

97108328083, ¥ S1ZC

07108328084, ¥ changing over time because of predicted effects due to a small population size

Question Number : 322 Question Id : 9710837028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why do dideoxynucleotides cause DNA replication to stop?
Options :

| they bind to DNA polymerase making it fall off the DNA template
97108328085. #

they are lacking a 5' phosphate
97108328086 ¥~ =

07108308087, v €Y are lacking a 3" hydroxyl group

thev contain ribose mnstead of deoxvribose
97108328088 # J J



Question Number : 323 Question Id : 9710837029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many replication forks are formed during replication of circular DNA
Options :
One onl
97108328089, * ¥
97108328090, ¥ LWO

97108328091. # Three

97108328092. # Four

Question Number : 324 Question Id : 9710837030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[LINEisa

Options :

LTR retrotransposon
97108328093. #

07108328004, % COIMIPOSIte ransposon

97108328095, ¥ Non-LTR retrotransposon

Ac-element
97108328096. %



Question Number : 325 Question Id : 9710837031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A carefully coordinated collapse of the cell. protein degradation. DNA fragmentation

followed by rapid engulfient of corpuses by neighboring cells.
Options :

97108328097, % LNCCTOSIS

Apoptosis
97108328098. ¥

97108328099 % SenNescence

97108328100, % CANCEL

Question Number : 326 Question Id : 9710837032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Holiday junction formed during homologous recombination is the
Options :

site of strand break
97108328101, %

site of heteroduplex DNA formation
97108328102, ¥

formation of a crossing over complex
97108328103 ¥ 5

07108328104 % 1€ Site of strand invasion



Question Number : 327 Question Id : 9710837033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The enzyme which can synthesize DNA using RNA as template 1s
Options :

97108328105, # DNA polymerase

97108328106, % RINA polymerase

p Reverse H‘HllSC]’ip[ElSE‘
97108328107 ¢

97108328108, % Ribonucleotide reductase

Question Number : 328 Question Id : 9710837034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Diagrammatic arrangement of chromosomes based on the position of centromeres in
decreasing order of size is called
Options :

Polygram
97108328109, ¥ e

07108328110, * Dendrogram

97108328111, * Tstogram

97108328112, v ldeogram



Question Number : 329 Question Id : 9710837035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traits which show continuous variation are referred as
Options :
07108308113, « ‘Qualitative traits

97108328114, ¢ Quantitative traits

97108328115, % Monogeneic traits

epigenetic traits
97108328116, *

Question Number : 330 Question Id : 9710837036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a X-linked recessive disorder?
Options :
97108328117, ® Sickle cell anemuia

97108328118. % Albinism

97108328119, ¢ C olour blindness

07108308100, % phenylthiocarbamide tasting



Question Number : 331 Question Id : 9710837037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The primary immune response is provided mostly by

Options :

I=G
97108328121, % O

IeM
97108328122, ¢ &

97108328123, % 18A

97108328124, # IgE

Question Number : 332 Question Id : 9710837038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Normal Distribution 1s applied for
Options :
07108328125, v continuous random distribution

97108328126, * discrete random variable

iregular random variable
97108328127, # 2

97108328128, % uncertain random variable



Question Number : 333 Question Id : 9710837039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The frequency of recombination between two unlinked genes is
Options :

0./
97108328129, % 100%

0
97108328130. # 75 %

0/
97108328131. ¢ 50 %

Ly
97108328132, % 10 %

Question Number : 334 Question Id : 9710837040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Among which of the following processes site specific recombination takes place ?
Options :

Lytic cycle of bacteriophage
97108328133. # ’ =

07108308134« Lysogeny of lambda phage

97108328135, % Transformation in bacteria

Conjugation in bacteria
97108328136. *#

Question Number : 335 Question Id : 9710837041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

If two individuals with the genotypes PPQqRr and ppQqrr mate the probability of
their offspring with genotype PpQQRr is

Options :

1/4

97108328137. ¥

I

1/8
97108328138, ¢

97108328130, % 110

1/32
97108328140. #

Question Number : 336 Question Id : 9710837042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Enzymes that remove nucleotides one at a time from the ends of DNA molecule are
Options :

Endonuclease
97108328141, %

97108328142, Exonuclease

07108308143, % Frotein kinase

DNA licase
97108328144, ¥ =



Question Number : 337 Question Id : 9710837043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mark the wrong combination
Options :

07108308145 % Polynucleotide kinase — addition of phosphate group on 5° end

Terminal transferase - template-independent addition of deoxynucleotides to the

97108328146, % ends.

97108328147, ¥ Alkalaine phosphates — Joining of broken ends of DNA

97108328148, % Endo nuclease — cutting of DNA at specific sites

Question Number : 338 Question Id : 9710837044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a post translational modification?
Options :

hosphorylation
97108328149, % DI OoPHIOLYE

glycosylation
97108328150. %

97108328151, * ubiquitination

Translocation
97108328152, ¢



Question Number : 339 Question Id : 9710837045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A class of protein is found in several different species and the amino acid sequence of
this protein 1s compared between the species. The greatest number of amino acid
differences will be between species of different

Options :

97108328153, ¢ P]lyla

(Genera
97108328154, %

97108328155. # orders

97108328156, * families

Question Number : 340 Question Id : 9710837046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pick up the wrong combination
Options :

97108328157, % Eukaryotes — Enhancer

97108328158, ¥ Eukaryotes — introns



Prokarvotes — Alternate splicin
97108328159, ¢ ALY e 5

_ Prokaryotes — operons
97108328160. % -

MICROBIOLOGY
Section Id : 97108390
Section Number : 6
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 971083104
Question Shuffling Allowed : Yes

Question Number : 341 Question Id : 9710837047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The causative agent of tuberculosis was first discovered by
Options :
97108308161 v Robert Koch

97108328162, ¥ Louis Pasteur

97108328163, # Paul Ehrlich



Metchnikoff
97108328164, ¥

Question Number : 342 Question Id : 9710837048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Microorganisms demand for more oxygen in water in the following conditions
Options :

97108328165, % Unpolluted water

07108328166, % Water polluted with less organic matter

Water polluted with more organic matter
97108328167, ¢

Water polluted with pesticides
97108328168. %

Question Number : 343 Question Id : 9710837049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The strengthening agents of prokaryotic plasma membrane are
Options :
97108308160, % Sterols

07108328170, v FlOPanoIds

0710832817 % Ergosterols



07108328172, % Cellulose fibers

Question Number : 344 Question Id : 9710837050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In prokaryotic cells the region where the DNA is located referred to as
Options :
97108328173 v Nucleoid

07108328174 % Cell membrane

RNA
97108328175. %

97108328176, % Cell wall

Question Number : 345 Question Id : 9710837051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Periplasmic space 1s found
Options :

07108328177, % In between cell wall and cell membrane

97108328178, % Below cell membrane

|T. 1 - =
97108328179, % Within outer membrane

3 T - - s 7 '
97108328180, ¢ 1 between outer membrane and peptidoglycans



Question Number : 346 Question Id : 9710837052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following property supports the transformation in bacteria

Options :

97108328181. # Partition

97108328182, % CUrng

07108328183, % Induction

Competence
97108328184, ¢ P

Question Number : 347 Question Id : 9710837053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Modern classification of microorganisms into three domains was based on
Options :
Phylogen
97108328185, % + ) OECHY

"r‘- . _]. i : : . :
97108328186, ¥ DNA probing — 16s TRNA sequencing

97108328187 ¥ DNA- Hybridization

07108328188, * 25 TRNA analysis



Question Number : 348 Question Id : 9710837054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which cycle of the Bacteriophage, progeny phages are released out of the host

Options :
07108328180, % LYSOZENIC

97108328190. ¢ L}’TIC

Binarvfission
97108328191, % :

97108328192, % Conjugation

Question Number : 349 Question Id : 9710837055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following RNA molecule serve as an adapter during protein synthesis
Options :

97108328193, % TRINA

97108328194, % MRINA

97108328195, # TRINA & mMRNA

97108328196, v (RNA

Question Number : 350 Question Id : 9710837056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

After the disappearance of macro nucleus. how many times the micro nucleus divides
Options :

97108328197, v L WIC®

97108328198. # Thrice

97108328100, % L OUI TIMES

97108328200. ¥ Only one time

Question Number : 351 Question Id : 9710837057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most complex part of flagellum
Options :
97108328201, % F100Ke

Basal body
97108328202. ¥

97108328203, * Filament

07108328004, % LINET set of rings

Question Number : 352 Question Id : 9710837058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is an acidic dye
Options :

97108328205, * Alcohol

97108328206, v E£0SIN

97108328207, % Methylene blue

97108328208, # Crystal violet

Question Number : 353 Question Id : 9710837059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The commonly used disinfectant for the decontamination of safety cabinets and rooms is
Options :

97108328209. % Chloroform

Formaldehyde
97108328210, ¢

97108328211, % Isopropanol

97108328212, % Ethanol

Question Number : 354 Question Id : 9710837060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is the body’s first line of defense mechanism developed against viral attacks
Options :

07108308013, % Srcule phase proteins

, Interferons
97108328214, ¢

07108328215, # Complement

97108328216, % Anftibodies

Question Number : 355 Question Id : 9710837061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Removable unit of RNA polymerase during Transcription
Options :

97108328217. ¢ Sigma subunit

07108328218, % Alpha subunit

97108328219, ® Defa subunit

97108328220, % Gamma subunit

Question Number : 356 Question Id : 9710837062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which of the following temperatures the growth rate of microorganism is high



Options :

97108328221, v OPUIMUM

97108328220, * Minimum

97108328223, # Maximum

97108328224, % ¥ €1y high

Question Number : 357 Question Id : 9710837063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Naturally acquires active immunity would be obtained through
Options :

Infection with disease causing organism followed by recovery
97108328225 ¢ =T

97108328227 * Drinking colostrums

07108308008 % Natural birth

Question Number : 358 Question Id : 9710837064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Viable count of microorganism gives
Options :



97108328229, ¥ Total number of cells in a culture

07108328230, % Growth rate of a culture

97108328231, % Number of cells divide at a particular time

97108328232, ¥ Number of living cells in a culture

Question Number : 359 Question Id : 9710837065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A sudden increase in occurrence of a disease beyond the limit is called
Options :
97108328233 v EPldemic

Sporadic
97108328234, %

97108328235, * Endemic

Pandemic
97108328236, %

Question Number : 360 Question Id : 9710837066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The temperature necessary to kill all the organisms in 10 minutes is known as
Options :



07108328237, % Decimal reduction time

07108328238, % Incubation time

97108328230 « Lhermal death point

97108328240, % £ value

Question Number : 361 Question Id : 9710837067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

: — ? g
In present days, comumercial Penicillin is regarded as
Options :

97108328241 % Penicillin V

Penicillin R
97108328242, %

07108328243, % Penicillin K

97108328244, ¢ Penicillin G

Question Number : 362 Question Id : 9710837068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The phenomenon of using a predator for controlling pests is
Options :

97108328245, ¢ Biological control



97108328046, % e€NETiC engineering

07108328247 % Artificial control

97108328248, ¥ Confusion technique

Question Number : 363 Question Id : 9710837069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Secondary metabolites are produced during

Options :
07108328249 % L-Ag phase

07108328050, % Lrophophase

07108328251, * 08 phase

97108328050« Stationary phase

Question Number : 364 Question Id : 9710837070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To prevent the loss of delicate flavors of some wines, the preferred method of removing
residual microorganisms from wine is

Options :

07108328253, v FlltTation



Autoclaving
97108328254, % =

Addition of SO2
97108328255, %

07108328256, * Radiation

Question Number : 365 Question Id : 9710837071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following microorganisms act as food or feed supplement that confer the

health benefits
Options :

Probiotics
97108328257, ¢

07108308058, % Symbiotics

Parasites
97108328259, %

97108328260. # PﬁﬂngE‘IIS

Question Number : 366 Question Id : 9710837072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following radiations are widely used in food preservation
Options :



Gamma radiations
97108328261, ¢

97108328262, % UV radiations

07108305065, % nirared rays

97108328264, % V1SI0I€ TAYS

Question Number : 367 Question Id : 9710837073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the process of enzymatic degradation of proteins into amino acids
Options :
97108328265, v FTOtEOLySls

97108328066 % Ammonification

Nitrification
97108328267, %

0710832806, % IN1trogen fixation

Question Number : 368 Question Id : 9710837074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Heterocyst is
Options :

07108328269, % > Type ol spore



97108328270, v A specialized type of cell within which nitrogen is fixed

07108328071 % Lhe progenitor of cyanobacterial vegetative cell

A cell that carries out oxygenic photosynthesis
97108328272. %

Question Number : 369 Question Id : 9710837075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Monocytes are agranular leukocytes which migrate into the tissues and differentiate to
Options :

97108328273, * B cells

Mast cells
97108328274, %

Macrophages
97108328275. ¥ 5

97108328276 % I cells

Question Number : 370 Question Id : 9710837076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cells are responsible for the development of B-cells in bone
MAarrow
Options :

T-Cells
97108328277, ¥



Stromal cells
97108328278. ¢

97108328270, % Macrophages

Epithelial cells
97108328280. ¥

Question Number : 371 Question Id : 9710837077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A major organic acid produced by microbial fermentation that used in food industry is
Options :

Sulphuric acid

97108328281. %

07108328080 v C1iric acid

97108328283, % Oxalic acid

07108328284, % UTIC acid

Question Number : 372 Question Id : 9710837078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Infection that persists in tissues for longer period. during most of which syvmptoms do not
manifest
Options :
07108328085, v Latent infection



97108328286, % Secondary infection

97108328287, % Chronic infection

07108328288, ¥ Nosocomial mfection

Question Number : 373 Question Id : 9710837079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Oxygenic photosynthesis occur in
Options :
97108328280 % Purple sulphur bacteria

97108328290, % Purple non-sulphur bacteria

07108328291, % Green sulphur bacteria

Cyanobacteria
97108328292, ¥

Question Number : 374 Question Id : 9710837080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following virus 1s very small
Options :
97108328293, ¥ Satellite Tobacco necrosis virus

07108328294, % Sinian Adeno virus



97108328205, # Turnip yellow mosaic virus

07108328296, % Tobacco necrosis virus

Question Number : 375 Question Id : 9710837081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following method is used to collect specimens from the blood aseptically.
Options :
; "y vab
07108308007 % Collection by swat

Needle aspiration
97108328298, ¢ asp

97108328299, ¥ Intubation

97108328300 % Clean-catch method

Question Number : 376 Question Id : 9710837082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Influenza virus, gradual sequential change in antigenic structure occurring at regular
intervals 1s known as

Options :

97108328301 % Antigenic shift

Antigenic drift
97108328302, ¢ E



Variation
97108328303, #

97108328304. # Eluction

Question Number : 377 Question Id : 9710837083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What stimulates the leukocytes to migrate to an injured area of the body
Options :
07108328305, ¢ Chemotactic factors

97108328306, % P1AZOCYTOSis
97108308307 % Leukocytes do not migrate to an injured area

97108328308, * Antiviral substances

Question Number : 378 Question Id : 9710837084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When an antibody elicited by one antigen that reacts with unrelated antigen. it is
Options :
97108328300, % AITIITY

97108328310, % AVidity

Cross reaction
97108328311. ¥



Affinity constant
97108328312, ¥

Question Number : 379 Question Id : 9710837085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most common type of antibody in the serum is
Options :
07108328313, % 184

IgE
97108328314, ¥ &

o
97108328315. ¢ I':G

97108328316, # IgIVI

Question Number : 380 Question Id : 9710837086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Chemotherapy for infectious disease was developed by
Options :
97108328317, % Robert Koch

97108328318, ¥ Paul Ehrlich

97108328319, * Edward Jenner

97108328320, % Louis Pasteur



Question Number : 381 Question Id : 9710837087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Virulence of a pathogen 1s measured by determining the
Options :
07108328321 % Lethal dose 100

Lethal dose 25
97108328322, ¥

07108308323,  Lethal dose 75

07108308324, v Lethal dose 50

Question Number : 382 Question Id : 9710837088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of Mycorrhizae is involved in interchange of material between plant and
fugus
Options :

97108328325, % V essicles

Arbuscules
97108328326. ¢

07108308327, % RiZoids

Mycelium
97108328328, %



Question Number : 383 Question Id : 9710837089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The chief microorganism involved in the fermentation of dairy products
Options :

97108328329, ¥ Acetobacter

97108328330, % Y east

Penicillium
97108328331, ¥

07108328332, ¥ Lactobacillus

Question Number : 384 Question Id : 9710837090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The organism which gamed prominence as single cell protein is
Options :
97108328333, * Chlorella
97108328334, % Bacillus

Scenedesmus
97108328335, %

97108328336 v SPirulina

Question Number : 385 Question Id : 9710837091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The most common cause of food poisoning is
Options :

07108328337 * Camphylobacter

97108328338, Staphylococcus

97108328330, % Clostridia

97108328340, ¥ Salmonella

Question Number : 386 Question Id : 9710837092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which organism is used for fermentative production of L — Glutamic acid
Options :
97108328341 % Escherichia coli

Corynebacterium sp.
97108328342, ¥

Clostridium sp.
97108328343, #

Staphylococcus
97108328344, #

Question Number : 387 Question Id : 9710837093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many ATP molecules require to fix one molecular nitrogen (N2)



Options :
97108328345, % S ATP

97108328346. ¥ 16 ATP

10 ATP
97108328347. ¥

.
07108328345, % 12 ATP

Question Number : 388 Question Id : 9710837094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term phyllosphere was coined by

Options :

97108328349, # Hiltner

07108308350, % Deljerinck

97108328351, % Waksman

07108328352, v UILEN

Question Number : 389 Question Id : 9710837095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Genetic information transferred from parent to progeny of organism by the parental DNA
molecule 1s called

Options :



07108328353, % Lranscription

97108328354, % Translation

07108308355, v Replication

97108328356, ® Transformation

Question Number : 390 Question Id : 9710837096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Convenient method of ethanol recovery from fermented medium is
Options :

97108328357 % Sedimentation

97108328358, % Centrifugation

97108328359, ¥ Distillation

07108328360, % PreCIpitation

Question Number : 391 Question Id : 9710837097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Number of base pairs per a helical turn of Z form DNA 1s
Options :

97108328361, ¥ 12



97108328362, % 10
97108328363, % 11

07108328364, % O

Question Number : 392 Question Id : 9710837098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sites at which a restriction endonuclease cuts the DNA molecule 1s known as
Options :

07108328365, % Palindromic DNA

G I .
97108328366, ¢ RECCI.:.HITIOH sequences

97108328367, % Sticky sites

97108328368, ¥ Blunt ends

Question Number : 393 Question Id : 9710837099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When the aminoacid substitution has no detectable effect on the phenotype of a cell, then
the mutation is called
Options :

07108328369, ¥ Silent mutation



Nonsense mutation
97108328370. #

Frame shift mutation
97108328371, #

07108328370 % Leaky mutation

Question Number : 394 Question Id : 9710837100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sewage 1s treated by aerobic bacteria in
Options :

Setting tank
97108328373. %

07108328374, % SCPUC tank

o
97108328375, ¢ La Al

97108328376, % Sedimentation tank

Question Number : 395 Question Id : 9710837101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Submerged fermentation is also known as

Options :

07108328377, % Surface fermentation



97108328378, ¢ Liquid fermentation

97108328379, % Solid state fermentation

97108328380 % Substrate fermentation

Question Number : 396 Question Id : 9710837102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Small, circular, duplex DNA molecules whose natural function is to confer antibiotic
resistance to the host cells are called
Options :
Cosmids
97108328381 %

Plasmids
97108328382, ¢

07108308383 % TNucleosides

97108328384, % Nucleotides

Question Number : 397 Question Id : 9710837103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following technique is used to determine the size of microorganism

Options :

97108328385. ¥ Micrometry



Hanging drop technique
97108328386. * Gl

97108328387, % StAINING

Colorimeter
97108328388, ¥

Question Number : 398 Question Id : 9710837104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reverse transcriptase is an enzyme associated with
Options :
97108308380 % Hydrolysis of DNA double strand

97108308300 % lranscription of genetic code

97108328391 % Vaccinia virus structure

AIDS virus structure
97108328392, ¢

Question Number : 399 Question Id : 9710837105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following enzyme is involved in photoreactivation repair mechanism
Options :
97108328393, ¥ DNA polymerase II

g
97108328394, « PIIUTDI}HEE



07108328305, « L hotoligase

DNA ligase
97108328396. % =

Question Number : 400 Question Id : 9710837106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an inducer molecule in lac operon
Options :

L
07108328307, % L-Actogen

97108328398, * Prolactin

Lactose
97108328399, ¥

Maltose
97108328400,



